

2026 MUSIC CITY CLASSIC

MARCH 6 - 8, 2026

Hosted by

**VANDERBILT UNIVERSITY
NASHVILLE, TN**



2026 MUSIC CITY CLASSIC

Tournament Standings - Final

POS	TEAM	WON	LOSS	Baker Match 01	Baker Match 02	Baker Match 03	Baker Match 04	Baker Match 05	Trad Match 01	Trad Match 02	Trad Match 03	Trad Match 04	Trad Match 05	Total Baker	Total Trad	Total Bracket	Total Pins	Total Games	Avg/Gm
1	JACKSONVILLE STATE UNIVERSITY	13	0	1,111	1,140	1,141	1,077	1,096	1,055	1,094	931	978	1,079	5,565	5,137	3,010	13,712	64	214.3
2	SAM HOUSTON STATE UNIVERSITY	8	5	959	1,147	1,106	1,061	1,065	923	1,165	1,072	1,006	1,054	5,338	5,220	3,461	14,019	67	209.2
3	VANDERBILT UNIVERSITY	10	3	1,033	1,054	1,057	1,138	972	1,004	1,088	1,059	1,002	1,082	5,254	5,235	3,225	13,714	66	207.8
4	ARKANSAS STATE UNIVERSITY	10	3	1,018	1,041	1,074	1,057	964	1,020	1,046	973	1,047	1,130	5,154	5,216	3,992	14,362	69	208.1
5	LOUISIANA TECH UNIVERSITY	10	3	993	1,053	993	1,064	874	951	1,018	1,072	962	1,093	4,977	5,096	3,030	13,103	66	198.5
6	NORTH CAROLINA A&T STATE UNIVERSITY	8	5	1,028	1,017	942	1,018	1,113	875	1,074	1,060	1,024	1,092	5,118	5,125	2,837	13,080	64	204.4
7	WICHITA STATE UNIVERSITY	9	4	936	1,001	1,006	1,015	991	880	958	1,063	1,087	898	4,949	4,886	3,770	13,605	68	200.1
8	MARYVILLE UNIVERSITY	10	3	953	997	883	946	1,048	1,027	1,027	960	976	1,180	4,827	5,170	3,655	13,652	68	200.8
9	ALABAMA AT BIRMINGHAM, UNIV. OF	7	6	1,037	1,030	1,076	937	1,098	1,049	947	926	997	962	5,178	4,881	2,978	13,037	65	200.6
10	WRIGHT STATE UNIVERSITY	9	4	979	983	987	1,010	955	921	918	1,015	1,021	987	4,914	4,862	3,412	13,188	66	199.8
11	SACRED HEART UNIVERSITY	8	5	866	933	1,031	1,036	1,090	980	1,072	920	1,009	859	4,956	4,840	3,695	13,491	68	198.4
12	NIAGARA UNIVERSITY	6	7	995	1,065	961	952	985	1,058	1,030	1,082	881	970	4,958	5,021	3,372	13,351	68	196.3
13	YOUNGSTOWN STATE UNIVERSITY	8	5	934	945	1,024	1,006	922	959	905	1,025	986	998	4,831	4,873	3,776	13,480	69	195.4
14	TULANE UNIVERSITY	8	5	942	973	1,005	971	1,006	1,045	1,007	903	918	883	4,897	4,756	3,920	13,573	70	193.9
15	NEWMAN UNIVERSITY	11	2	886	931	1,059	1,013	925	901	880	988	1,086	956	4,814	4,811	3,291	12,916	67	193
16	JACKSON STATE UNIVERSITY	7	6	1,011	885	990	939	1,028	966	943	971	885	910	4,853	4,675	2,874	12,402	66	188
17	WISCONSIN-WHITEWATER, UNIV. OF	7	6	848	991	958	982	923	838	835	1,025	963	978	4,702	4,639	3,709	13,050	69	189
18	MARYLAND EASTERN SHORE, UNIV. OF	4	9	928	928	931	872	936	1,001	894	998	953	1,015	4,595	4,861	3,445	12,901	69	187
19	BELMONT ABBEY COLLEGE	8	5	948	932	982	859	806	928	1,003	885	1,072	975	4,527	4,863	3,604	12,994	69	188
20	MCKENDREE UNIVERSITY	5	8	833	944	993	909	935	944	887	912	953	936	4,614	4,632	3,894	13,140	71	185
21	FAIRLEIGH DICKINSON UNIVERSITY	4	9	951	929	948	966	920	868	884	859	871	865	4,714	4,347	3,807	12,868	70	184
22	OKLAHOMA CHRISTIAN UNIVERSITY	7	6	876	935	976	803	1,035	906	927	954	863	881	4,625	4,531	3,402	12,558	69	182
23	ALABAMA STATE UNIVERSITY	4	9	902	847	882	1,051	980	873	873	771	867	871	4,662	4,255	2,965	11,882	66	180
24	WESTERN ILLINOIS UNIVERSITY	3	10	807	842	916	894	971	881	972	893	819	949	4,430	4,514	2,822	11,766	66	178
25	CARROLL UNIVERSITY	5	8	937	863	876	867	835	850	1,004	931	706	865	4,378	4,356	3,346	12,080	68	178
26	MARIAN UNIVERSITY (WI)	5	8	867	874	890	932	963	937	850	772	932	892	4,526	4,383	3,622	12,531	70	179

2026 MUSIC CITY CLASSIC - Sunday Championship Bracket

First Round

1	JACKSONVILLE STATE UNIVERSITY	244	205	210	245	194	244		
Match A - Lanes 11-12									
2	SAM HOUSTON STATE UNIVERSITY	215	213	170	194	207	225		
3	VANDERBILT UNIVERSITY	147	203	236	170	190			
Match B - Lanes 13-14									
4	ARKANSAS STATE UNIVERSITY	202	215	234	195	213			
5	NORTH CAROLINA A&T STATE UNIVERSITY	203	211	201	237	191			
Match C - Lanes 17-18									
6	LOUISIANA TECH UNIVERSITY	170	148	203	146	185			
7	ALABAMA AT BIRMINGHAM, UNIV. OF	231	185	211	181	160			
Match D - Lanes 19-20									
8	MARYVILLE UNIVERSITY	236	202	172	221	167			
9	NIAGARA UNIVERSITY	207	181	188	176	184	189	174	
Match E - Lanes 21-22									
10	WICHITA STATE UNIVERSITY	160	160	201	175	234	242	194	
11	SACRED HEART UNIVERSITY	192	183	193	193	224			
Match F - Lanes 27-28									
12	WRIGHT STATE UNIVERSITY	231	191	236	192	225			

Second Round

LONG ISLAND UNIVERSITY									
159	188	144	180						
Loser Match Q									
Match AA - Lanes 19-20									
JACKSONVILLE STATE UNIVERSITY									
215	218	210	195						
SAM HOUSTON STATE UNIVERSITY									
202	212	201	201	202	244	216			
Loser Match A									
Match BB - Lanes 21-22									
ARKANSAS STATE UNIVERSITY									
225	268	184	221	149	203	207			
VANDERBILT UNIVERSITY									
209	196	214	259						
Loser Match B									
Match CC - Lanes 27-28									
NORTH CAROLINA A&T STATE UNIVERSITY									
198	187	212	213						
LOUISIANA TECH UNIVERSITY									
193	213	179	217	205	172				
Loser Match C									
Match DD - Lanes 29-30									
MARYVILLE UNIVERSITY									
159	209	182	182	246	171				
ALABAMA AT BIRMINGHAM, UNIV. OF									
159	202	191	193						
Loser Match D									
Match EE - Lanes 33-34									
WICHITA STATE UNIVERSITY									
233	207	239	257						
NIAGARA UNIVERSITY									
166	189	177	237	194					
Loser Match E									
Match FF - Lanes 35-36									
WRIGHT STATE UNIVERSITY									
247	192	205	215	204					

Position Round

JACKSONVILLE STATE UNIVERSITY									
225	197	199	209						
Winner Match A									
Lanes 27-28									
SAM HOUSTON STATE UNIVERSITY									
203	160	192	204						
ARKANSAS STATE UNIVERSITY									
183	213	247	259	188	161	225			
Loser Match BB									
Lanes 29-30									
VANDERBILT UNIVERSITY									
220	172	186	180	206	203	234			
NORTH CAROLINA A&T STATE UNIVERSITY									
203	158	211	243	169					
Loser Match CC									
Lanes 33-34									
LOUISIANA TECH UNIVERSITY									
212	193	231	183	180					
MARYVILLE UNIVERSITY									
259	206	235	216	191	212	189			
Loser Match DD									
Lanes 35-36									
WICHITA STATE UNIVERSITY									
246	222	182	168	205	220	225			
ALABAMA AT BIRMINGHAM, UNIV. OF									
196	246	268	180	172	203				
Loser Match EE									
Lanes 37-38									
WRIGHT STATE UNIVERSITY									
194	214	224	221	219	202				

Final Standings

JACKSONVILLE STATE UNIVERSITY
Champion

SAM HOUSTON STATE UNIVERSITY
2nd Place

VANDERBILT UNIVERSITY
3rd Place

ARKANSAS STATE UNIVERSITY
4th Place

LOUISIANA TECH UNIVERSITY
5th Place

NORTH CAROLINA A&T STATE UNIVERSITY
6th Place

WICHITA STATE UNIVERSITY
7th Place

MARYVILLE UNIVERSITY
8th Place

ALABAMA AT BIRMINGHAM, UNIV. OF
9th Place

WRIGHT STATE UNIVERSITY
10th Place

2026 MUSIC CITY CLASSIC - Sunday Championship Bracket

First Round	Second Round	Position Round	Final Standings
<p>13 YOUNGSTOWN STATE UNIVERSITY 207 174 221 171 227 159 196</p> <p>Match G - Lanes 29-30</p> <p>14 TULANE UNIVERSITY 164 234 155 213 159 175 206</p> <p>Match H - Lanes 33-34</p> <p>15 NEWMAN UNIVERSITY 175 169 211 214 201 174 188</p> <p>Match I - Lanes 35-36</p> <p>16 JACKSON STATE UNIVERSITY 178 169 167 168 155 198 171</p>	<p>SACRED HEART UNIVERSITY 279 167 164 223 201 229 236</p> <p>Loser Match F Match GG - Lanes 37-38</p> <p>TULANE UNIVERSITY 226 192 206 189 244 203 232</p> <p>YOUNGSTOWN STATE UNIVERSITY 186 189 226 216 183 205</p> <p>Loser Match G Match HH - Lanes 41-42</p> <p>NEWMAN UNIVERSITY 195 193 183 202 182 202</p> <p>JACKSON STATE UNIVERSITY 215 185 206 184 174</p> <p>Loser Match H Match II - Lanes 43-44</p> <p>MARYLAND EASTERN SHORE, UNIV. OF 149 179 144 200 170</p> <p>BELMONT ABBEY COLLEGE 167 204 173 234 148 232 171</p>	<p>NIAGARA UNIVERSITY 212 166 190 178 170 194</p> <p>Loser Match FF Lanes 41-42</p> <p>SACRED HEART UNIVERSITY 158 204 167 223 203 256</p> <p>TULANE UNIVERSITY 203 181 170 202 191 175</p> <p>Loser Match GG Lanes 43-44</p> <p>YOUNGSTOWN STATE UNIVERSITY 177 242 193 172 231 201</p> <p>NEWMAN UNIVERSITY 168 235 164 235</p> <p>Loser Match HH Lanes 47-48</p> <p>JACKSON STATE UNIVERSITY 165 181 145 213</p> <p>MARYLAND EASTERN SHORE, UNIV. OF 157 192 142 199 192 193 214</p> <p>Loser Match II Lanes 49-50</p> <p>WISCONSIN-WHITEWATER, UNIV. OF 177 213 192 192 172 175 247</p> <p>BELMONT ABBEY COLLEGE 175 147 229 201 141 203 196</p> <p>Loser Match JJ Lanes 3-4</p> <p>MCKENDREE UNIVERSITY 201 159 205 178 181 183 187</p> <p>FAIRLEIGH DICKINSON UNIVERSITY 189 209 171 197 153 201</p> <p>Loser Match KK Lanes 5-6</p> <p>OKLAHOMA CHRISTIAN UNIVERSITY 182 183 199 149 169 191</p>	<p>SACRED HEART UNIVERSITY 11th Place</p> <p>NIAGARA UNIVERSITY 12th Place</p> <p>YOUNGSTOWN STATE UNIVERSITY 13th Place</p> <p>TULANE UNIVERSITY 14th Place</p> <p>NEWMAN UNIVERSITY 15th Place</p> <p>JACKSON STATE UNIVERSITY 16th Place</p> <p>WISCONSIN-WHITEWATER, UNIV. OF 17th Place</p> <p>MARYLAND EASTERN SHORE, UNIV. OF 18th Place</p> <p>BELMONT ABBEY COLLEGE 19th Place</p> <p>MCKENDREE UNIVERSITY 20th Place</p> <p>FAIRLEIGH DICKINSON UNIVERSITY 21st Place</p> <p>OKLAHOMA CHRISTIAN UNIVERSITY 22nd Place</p>
<p>19 WISCONSIN-WHITEWATER, UNIV. OF 180 162 200 179 202 236 168</p> <p>Match J - Lanes 37-38</p> <p>20 MCKENDREE UNIVERSITY 218 189 206 170 188 152 163</p> <p>21 OKLAHOMA CHRISTIAN UNIVERSITY 162 203 170 159 182 184 195</p> <p>Match K - Lanes 41-42</p> <p>22 FAIRLEIGH DICKINSON UNIVERSITY 161 202 203 181 201 168 246</p> <p>23 WESTERN ILLINOIS UNIVERSITY 190 161 163 171</p> <p>Match L - Lanes 43-44</p> <p>24 ALABAMA STATE UNIVERSITY 198 200 196 203</p>	<p>BELMONT ABBEY COLLEGE 190 174 224 181 214</p> <p>Loser Match I Match JJ - Lanes 47-48</p> <p>WISCONSIN-WHITEWATER, UNIV. OF 211 190 185 203 225</p> <p>MCKENDREE UNIVERSITY 189 213 162 167 191 163 229</p> <p>Loser Match J Match KK - Lanes 49-50</p> <p>FAIRLEIGH DICKINSON UNIVERSITY 182 197 186 179 166 222 193</p> <p>OKLAHOMA CHRISTIAN UNIVERSITY 177 189 199 155 169 185</p> <p>Loser Match K Match LL - Lanes 3-4</p> <p>ALABAMA STATE UNIVERSITY 160 172 168 195 178 164</p>	<p>FAIRLEIGH DICKINSON UNIVERSITY 182 183 199 149 169 191</p>	

2026 MUSIC CITY CLASSIC - Sunday Championship Bracket

First Round	Second Round	Position Round	Final Standings																																								
<p>25 MARIAN UNIVERSITY (WI)</p> <table border="1"> <tr><td>177</td><td>205</td><td>165</td><td>191</td><td>193</td><td>196</td><td>211</td><td></td></tr> </table> <p>Match M - Lanes 47-48</p>	177	205	165	191	193	196	211		<p>WESTERN ILLINOIS UNIVERSITY</p> <table border="1"> <tr><td>170</td><td>163</td><td>199</td><td>151</td><td>179</td><td>179</td><td></td><td></td></tr> </table> <p>Loser Match L</p> <p>Match MM - Lanes 5-6</p> <p>MARIAN UNIVERSITY (WI)</p> <table border="1"> <tr><td>158</td><td>170</td><td>188</td><td>181</td><td>166</td><td>159</td><td></td><td></td></tr> </table>	170	163	199	151	179	179			158	170	188	181	166	159			<p>ALABAMA STATE UNIVERSITY</p> <table border="1"> <tr><td>180</td><td>175</td><td>198</td><td>161</td><td>182</td><td>235</td><td></td><td></td></tr> </table> <p>Loser Match LL</p> <p>Lanes 7-8</p> <p>WESTERN ILLINOIS UNIVERSITY</p> <table border="1"> <tr><td>171</td><td>167</td><td>216</td><td>165</td><td>179</td><td>198</td><td></td><td></td></tr> </table>	180	175	198	161	182	235			171	167	216	165	179	198			<p>ALABAMA STATE UNIVERSITY</p> <hr/> <p>23rd Place</p> <p>WESTERN ILLINOIS UNIVERSITY</p> <hr/> <p>24th Place</p>
177	205	165	191	193	196	211																																					
170	163	199	151	179	179																																						
158	170	188	181	166	159																																						
180	175	198	161	182	235																																						
171	167	216	165	179	198																																						
<p>26 CARROLL UNIVERSITY</p> <table border="1"> <tr><td>192</td><td>143</td><td>212</td><td>153</td><td>165</td><td>199</td><td>174</td><td></td></tr> </table>	192	143	212	153	165	199	174		<p>CARROLL UNIVERSITY</p> <table border="1"> <tr><td>188</td><td>168</td><td>176</td><td>208</td><td></td><td></td><td></td><td></td></tr> </table> <p>Loser Match M</p> <p>Match NN - Lanes 7-8</p> <p>ALABAMA A&M UNIVERSITY</p> <table border="1"> <tr><td>170</td><td>123</td><td>170</td><td>138</td><td></td><td></td><td></td><td></td></tr> </table>	188	168	176	208					170	123	170	138					<p>MARIAN UNIVERSITY (WI)</p> <table border="1"> <tr><td>155</td><td>193</td><td>202</td><td>157</td><td>181</td><td>181</td><td>193</td><td></td></tr> </table> <p>Loser Match MM</p> <p>Lanes 11-12</p> <p>CARROLL UNIVERSITY</p> <table border="1"> <tr><td>192</td><td>182</td><td>254</td><td>186</td><td>180</td><td>162</td><td>212</td><td></td></tr> </table>	155	193	202	157	181	181	193		192	182	254	186	180	162	212		<p>CARROLL UNIVERSITY</p> <hr/> <p>25th Place</p> <p>MARIAN UNIVERSITY (WI)</p> <hr/> <p>26th Place</p>
192	143	212	153	165	199	174																																					
188	168	176	208																																								
170	123	170	138																																								
155	193	202	157	181	181	193																																					
192	182	254	186	180	162	212																																					
<p>27 LEWIS UNIVERSITY</p> <table border="1"> <tr><td>178</td><td>152</td><td>184</td><td>174</td><td>134</td><td>134</td><td>184</td><td></td></tr> </table> <p>Match N - Lanes 49-50</p>	178	152	184	174	134	134	184		<p>LEWIS UNIVERSITY</p> <table border="1"> <tr><td>193</td><td>138</td><td>181</td><td>212</td><td>169</td><td>221</td><td></td><td></td></tr> </table> <p>Loser Match N</p> <p>Match OO - Lanes 11-12</p> <p>QUINCY UNIVERSITY</p> <table border="1"> <tr><td>183</td><td>227</td><td>169</td><td>150</td><td>225</td><td>191</td><td></td><td></td></tr> </table>	193	138	181	212	169	221			183	227	169	150	225	191			<p>ALABAMA A&M UNIVERSITY</p> <table border="1"> <tr><td>177</td><td>144</td><td>176</td><td>156</td><td>162</td><td></td><td></td><td></td></tr> </table> <p>Loser Match NN</p> <p>Lanes 13-14</p> <p>LEWIS UNIVERSITY</p> <table border="1"> <tr><td>189</td><td>181</td><td>201</td><td>144</td><td>178</td><td></td><td></td><td></td></tr> </table>	177	144	176	156	162				189	181	201	144	178				<p>LEWIS UNIVERSITY</p> <hr/> <p>27th Place</p> <p>ALABAMA A&M UNIVERSITY</p> <hr/> <p>28th Place</p>
178	152	184	174	134	134	184																																					
193	138	181	212	169	221																																						
183	227	169	150	225	191																																						
177	144	176	156	162																																							
189	181	201	144	178																																							
<p>28 ALABAMA A&M UNIVERSITY</p> <table border="1"> <tr><td>137</td><td>160</td><td>157</td><td>120</td><td>151</td><td>160</td><td>188</td><td></td></tr> </table>	137	160	157	120	151	160	188		<p>INDIANAPOLIS, UNIV. OF</p> <table border="1"> <tr><td>178</td><td>154</td><td>190</td><td>160</td><td>148</td><td>152</td><td></td><td></td></tr> </table> <p>Loser Match O</p> <p>Match PP - Lanes 13-14</p> <p>CARTHAGE COLLEGE</p> <table border="1"> <tr><td>120</td><td>193</td><td>172</td><td>167</td><td>166</td><td>173</td><td></td><td></td></tr> </table>	178	154	190	160	148	152			120	193	172	167	166	173			<p>QUINCY UNIVERSITY</p> <table border="1"> <tr><td>196</td><td>179</td><td>175</td><td>170</td><td>171</td><td>134</td><td></td><td></td></tr> </table> <p>Loser Match OO</p> <p>Lanes 17-18</p> <p>CARTHAGE COLLEGE</p> <table border="1"> <tr><td>211</td><td>157</td><td>147</td><td>178</td><td>172</td><td>177</td><td></td><td></td></tr> </table>	196	179	175	170	171	134			211	157	147	178	172	177			<p>CARTHAGE COLLEGE</p> <hr/> <p>29th Place</p> <p>QUINCY UNIVERSITY</p> <hr/> <p>30th Place</p>
137	160	157	120	151	160	188																																					
178	154	190	160	148	152																																						
120	193	172	167	166	173																																						
196	179	175	170	171	134																																						
211	157	147	178	172	177																																						
<p>29 QUINCY UNIVERSITY</p> <table border="1"> <tr><td>155</td><td>170</td><td>152</td><td>204</td><td>162</td><td></td><td></td><td></td></tr> </table> <p>Match O - Lanes 3-4</p>	155	170	152	204	162				<p>INDIANAPOLIS, UNIV. OF</p> <table border="1"> <tr><td>178</td><td>154</td><td>190</td><td>160</td><td>148</td><td>152</td><td></td><td></td></tr> </table> <p>Loser Match P</p> <p>Match QQ - Lanes 17-18</p> <p>PRAIRIE VIEW A&M UNIVERSITY</p> <table border="1"> <tr><td>204</td><td>206</td><td>166</td><td>161</td><td>180</td><td></td><td></td><td></td></tr> </table>	178	154	190	160	148	152			204	206	166	161	180				<p>INDIANAPOLIS, UNIV. OF</p> <table border="1"> <tr><td>160</td><td>157</td><td>146</td><td>182</td><td>204</td><td>163</td><td>198</td><td></td></tr> </table> <p>Loser Match PP</p> <p>Lanes 19-20</p> <p>AURORA UNIVERSITY</p> <table border="1"> <tr><td>138</td><td>181</td><td>205</td><td>150</td><td>171</td><td>191</td><td>148</td><td></td></tr> </table>	160	157	146	182	204	163	198		138	181	205	150	171	191	148		<p>INDIANAPOLIS, UNIV. OF</p> <hr/> <p>31st Place</p> <p>AURORA UNIVERSITY</p> <hr/> <p>32nd Place</p>
155	170	152	204	162																																							
178	154	190	160	148	152																																						
204	206	166	161	180																																							
160	157	146	182	204	163	198																																					
138	181	205	150	171	191	148																																					
<p>30 INDIANAPOLIS, UNIV. OF</p> <table border="1"> <tr><td>149</td><td>192</td><td>140</td><td>144</td><td>158</td><td></td><td></td><td></td></tr> </table>	149	192	140	144	158				<p>AURORA UNIVERSITY</p> <table border="1"> <tr><td>224</td><td>166</td><td>191</td><td>198</td><td>225</td><td></td><td></td><td></td></tr> </table> <p>Loser Match P</p> <p>Match QQ - Lanes 17-18</p> <p>PRAIRIE VIEW A&M UNIVERSITY</p> <table border="1"> <tr><td>204</td><td>206</td><td>166</td><td>161</td><td>180</td><td></td><td></td><td></td></tr> </table>	224	166	191	198	225				204	206	166	161	180				<p>PRAIRIE VIEW A&M UNIVERSITY</p> <table border="1"> <tr><td>139</td><td>170</td><td>176</td><td>217</td><td>195</td><td>173</td><td></td><td></td></tr> </table> <p>Loser Match QQ</p> <p>Lanes 21-22</p> <p>LONG ISLAND UNIVERSITY</p> <table border="1"> <tr><td>146</td><td>139</td><td>157</td><td>157</td><td>204</td><td>151</td><td></td><td></td></tr> </table>	139	170	176	217	195	173			146	139	157	157	204	151			<p>PRAIRIE VIEW A&M UNIVERSITY</p> <hr/> <p>33rd Place</p> <p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>
149	192	140	144	158																																							
224	166	191	198	225																																							
204	206	166	161	180																																							
139	170	176	217	195	173																																						
146	139	157	157	204	151																																						
<p>31 CARTHAGE COLLEGE</p> <table border="1"> <tr><td>141</td><td>211</td><td>216</td><td>170</td><td>159</td><td>210</td><td></td><td></td></tr> </table> <p>Match P - Lanes 5-6</p>	141	211	216	170	159	210			<p>AURORA UNIVERSITY</p> <table border="1"> <tr><td>128</td><td>172</td><td>211</td><td>170</td><td>160</td><td>151</td><td></td><td></td></tr> </table>	128	172	211	170	160	151			<p>PRAIRIE VIEW A&M UNIVERSITY</p> <table border="1"> <tr><td>139</td><td>170</td><td>176</td><td>217</td><td>195</td><td>173</td><td></td><td></td></tr> </table> <p>Loser Match QQ</p> <p>Lanes 21-22</p> <p>LONG ISLAND UNIVERSITY</p> <table border="1"> <tr><td>146</td><td>139</td><td>157</td><td>157</td><td>204</td><td>151</td><td></td><td></td></tr> </table>	139	170	176	217	195	173			146	139	157	157	204	151			<p>PRAIRIE VIEW A&M UNIVERSITY</p> <hr/> <p>33rd Place</p> <p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>								
141	211	216	170	159	210																																						
128	172	211	170	160	151																																						
139	170	176	217	195	173																																						
146	139	157	157	204	151																																						
<p>32 AURORA UNIVERSITY</p> <table border="1"> <tr><td>128</td><td>172</td><td>211</td><td>170</td><td>160</td><td>151</td><td></td><td></td></tr> </table>	128	172	211	170	160	151			<p>PRAIRIE VIEW A&M UNIVERSITY</p> <table border="1"> <tr><td>172</td><td>189</td><td>167</td><td>153</td><td>154</td><td>181</td><td></td><td></td></tr> </table> <p>Match Q - Lanes 7-8</p>	172	189	167	153	154	181			<p>LONG ISLAND UNIVERSITY</p> <table border="1"> <tr><td>155</td><td>154</td><td>146</td><td>167</td><td>158</td><td>172</td><td></td><td></td></tr> </table>	155	154	146	167	158	172			<p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>																
128	172	211	170	160	151																																						
172	189	167	153	154	181																																						
155	154	146	167	158	172																																						
<p>33 PRAIRIE VIEW A&M UNIVERSITY</p> <table border="1"> <tr><td>172</td><td>189</td><td>167</td><td>153</td><td>154</td><td>181</td><td></td><td></td></tr> </table> <p>Match Q - Lanes 7-8</p>	172	189	167	153	154	181			<p>LONG ISLAND UNIVERSITY</p> <table border="1"> <tr><td>155</td><td>154</td><td>146</td><td>167</td><td>158</td><td>172</td><td></td><td></td></tr> </table>	155	154	146	167	158	172			<p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>	<p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>																								
172	189	167	153	154	181																																						
155	154	146	167	158	172																																						
<p>34 LONG ISLAND UNIVERSITY</p> <table border="1"> <tr><td>155</td><td>154</td><td>146</td><td>167</td><td>158</td><td>172</td><td></td><td></td></tr> </table>	155	154	146	167	158	172			<p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>	<p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>	<p>LONG ISLAND UNIVERSITY</p> <hr/> <p>34th Place</p>																																
155	154	146	167	158	172																																						

2026 MUSIC CITY CLASSIC

INDIVIDUAL MATCH RESULTS

1 BAKER				
3-4	CARROLL UNIVERSITY	937	ALABAMA STATE UNIVERSITY	902
5-6	QUINCY UNIVERSITY	857	AURORA UNIVERSITY	763
7-8	ALABAMA A&M UNIVERSITY	861	JACKSON STATE UNIVERSITY	1,011
11-12	MARYLAND EASTERN SHORE, UNIV. OF	928	VANDERBILT UNIVERSITY	1,033
13-14	BELMONT ABBEY COLLEGE	948	ARKANSAS STATE UNIVERSITY	1,018
17-18	JACKSONVILLE STATE UNIVERSITY	1,111	MARIAN UNIVERSITY (WI)	867
19-20	ALABAMA AT BIRMINGHAM, UNIV. OF	1,037	LEWIS UNIVERSITY	791
21-22	WICHITA STATE UNIVERSITY	936	LOUISIANA TECH UNIVERSITY	993
27-28	MCKENDREE UNIVERSITY	833	SAM HOUSTON STATE UNIVERSITY	959
29-30	NORTH CAROLINA A&T STATE UNIVERSITY	1,028	TULANE UNIVERSITY	942
33-34	MARYVILLE UNIVERSITY	953	WRIGHT STATE UNIVERSITY	979
35-36	PRAIRIE VIEW A&M UNIVERSITY	828	YOUNGSTOWN STATE UNIVERSITY	934
37-38	NIAGARA UNIVERSITY	995	CARTHAGE COLLEGE	948
41-42	SACRED HEART UNIVERSITY	866	NEWMAN UNIVERSITY	886
43-44	FAIRLEIGH DICKINSON UNIVERSITY	951	INDIANAPOLIS, UNIV. OF	860
47-48	LONG ISLAND UNIVERSITY	831	WESTERN ILLINOIS UNIVERSITY	807
49-50	OKLAHOMA CHRISTIAN UNIVERSITY	876	WISCONSIN-WHITEWATER, UNIV. OF	848

4 BAKER				
3-4	CARTHAGE COLLEGE	904	FAIRLEIGH DICKINSON UNIVERSITY	966
5-6	NEWMAN UNIVERSITY	1,013	MCKENDREE UNIVERSITY	909
7-8	INDIANAPOLIS, UNIV. OF	859	NORTH CAROLINA A&T STATE UNIVERSITY	1,018
11-12	WESTERN ILLINOIS UNIVERSITY	894	MARYVILLE UNIVERSITY	946
13-14	SAM HOUSTON STATE UNIVERSITY	1,061	PRAIRIE VIEW A&M UNIVERSITY	899
17-18	TULANE UNIVERSITY	971	NIAGARA UNIVERSITY	952
19-20	WRIGHT STATE UNIVERSITY	1,010	WISCONSIN-WHITEWATER, UNIV. OF	982
21-22	YOUNGSTOWN STATE UNIVERSITY	1,006	SACRED HEART UNIVERSITY	1,036
27-28	AURORA UNIVERSITY	813	ALABAMA AT BIRMINGHAM, UNIV. OF	937
29-30	ARKANSAS STATE UNIVERSITY	1,057	WICHITA STATE UNIVERSITY	1,015
33-34	LOUISIANA TECH UNIVERSITY	1,064	ALABAMA A&M UNIVERSITY	908
35-36	LEWIS UNIVERSITY	857	MARYLAND EASTERN SHORE, UNIV. OF	872
37-38	LONG ISLAND UNIVERSITY	856	ALABAMA STATE UNIVERSITY	1,051
41-42	VANDERBILT UNIVERSITY	1,138	QUINCY UNIVERSITY	863
43-44	JACKSON STATE UNIVERSITY	939	BELMONT ABBEY COLLEGE	859
47-48	OKLAHOMA CHRISTIAN UNIVERSITY	803	JACKSONVILLE STATE UNIVERSITY	1,077
49-50	MARIAN UNIVERSITY (WI)	932	CARROLL UNIVERSITY	867

2 BAKER				
3-4	JACKSON STATE UNIVERSITY	885	ALABAMA AT BIRMINGHAM, UNIV. OF	1,030
5-6	ALABAMA STATE UNIVERSITY	847	BELMONT ABBEY COLLEGE	932
7-8	VANDERBILT UNIVERSITY	1,054	JACKSONVILLE STATE UNIVERSITY	1,140
11-12	LOUISIANA TECH UNIVERSITY	1,053	QUINCY UNIVERSITY	818
13-14	OKLAHOMA CHRISTIAN UNIVERSITY	935	WICHITA STATE UNIVERSITY	1,001
17-18	AURORA UNIVERSITY	771	CARROLL UNIVERSITY	863
19-20	ARKANSAS STATE UNIVERSITY	1,041	MARYLAND EASTERN SHORE, UNIV. OF	928
21-22	MARIAN UNIVERSITY (WI)	874	ALABAMA A&M UNIVERSITY	855
27-28	INDIANAPOLIS, UNIV. OF	913	PRAIRIE VIEW A&M UNIVERSITY	776
29-30	WESTERN ILLINOIS UNIVERSITY	842	NIAGARA UNIVERSITY	1,065
33-34	SAM HOUSTON STATE UNIVERSITY	1,147	WISCONSIN-WHITEWATER, UNIV. OF	991
35-36	TULANE UNIVERSITY	973	SACRED HEART UNIVERSITY	933
37-38	WRIGHT STATE UNIVERSITY	983	FAIRLEIGH DICKINSON UNIVERSITY	929
41-42	YOUNGSTOWN STATE UNIVERSITY	945	LONG ISLAND UNIVERSITY	806
43-44	CARTHAGE COLLEGE	845	MCKENDREE UNIVERSITY	944
47-48	NEWMAN UNIVERSITY	931	MARYVILLE UNIVERSITY	997
49-50	NORTH CAROLINA A&T STATE UNIVERSITY	1,017	LEWIS UNIVERSITY	910

5 BAKER				
3-4	JACKSONVILLE STATE UNIVERSITY	1,096	ARKANSAS STATE UNIVERSITY	964
5-6	CARROLL UNIVERSITY	835	LOUISIANA TECH UNIVERSITY	874
7-8	WICHITA STATE UNIVERSITY	991	LEWIS UNIVERSITY	787
11-12	BELMONT ABBEY COLLEGE	806	AURORA UNIVERSITY	796
13-14	ALABAMA AT BIRMINGHAM, UNIV. OF	1,098	MARIAN UNIVERSITY (WI)	963
17-18	QUINCY UNIVERSITY	811	OKLAHOMA CHRISTIAN UNIVERSITY	1,035
19-20	ALABAMA A&M UNIVERSITY	879	VANDERBILT UNIVERSITY	972
21-22	MARYLAND EASTERN SHORE, UNIV. OF	936	ALABAMA STATE UNIVERSITY	980
27-28	NIAGARA UNIVERSITY	985	YOUNGSTOWN STATE UNIVERSITY	922
29-30	FAIRLEIGH DICKINSON UNIVERSITY	920	NEWMAN UNIVERSITY	925
33-34	LONG ISLAND UNIVERSITY	806	INDIANAPOLIS, UNIV. OF	879
35-36	WISCONSIN-WHITEWATER, UNIV. OF	923	CARTHAGE COLLEGE	824
37-38	MARYVILLE UNIVERSITY	1,048	TULANE UNIVERSITY	1,006
41-42	MCKENDREE UNIVERSITY	935	WESTERN ILLINOIS UNIVERSITY	971
43-44	NORTH CAROLINA A&T STATE UNIVERSITY	1,113	SAM HOUSTON STATE UNIVERSITY	1,065
47-48	PRAIRIE VIEW A&M UNIVERSITY	816	WRIGHT STATE UNIVERSITY	955
49-50	JACKSON STATE UNIVERSITY	1,028	SACRED HEART UNIVERSITY	1,090

3 BAKER				
3-4	MCKENDREE UNIVERSITY	993	WRIGHT STATE UNIVERSITY	987
5-6	NORTH CAROLINA A&T STATE UNIVERSITY	942	YOUNGSTOWN STATE UNIVERSITY	1,024
7-8	MARYVILLE UNIVERSITY	883	CARTHAGE COLLEGE	872
11-12	NIAGARA UNIVERSITY	961	NEWMAN UNIVERSITY	1,059
13-14	SACRED HEART UNIVERSITY	1,031	WESTERN ILLINOIS UNIVERSITY	916
17-18	WISCONSIN-WHITEWATER, UNIV. OF	958	INDIANAPOLIS, UNIV. OF	867
19-20	LONG ISLAND UNIVERSITY	872	TULANE UNIVERSITY	1,005
21-22	FAIRLEIGH DICKINSON UNIVERSITY	948	SAM HOUSTON STATE UNIVERSITY	1,106
27-28	CARROLL UNIVERSITY	876	JACKSON STATE UNIVERSITY	990
29-30	MARYLAND EASTERN SHORE, UNIV. OF	931	OKLAHOMA CHRISTIAN UNIVERSITY	976
33-34	BELMONT ABBEY COLLEGE	982	LEWIS UNIVERSITY	837
35-36	QUINCY UNIVERSITY	854	MARIAN UNIVERSITY (WI)	890
37-38	ALABAMA A&M UNIVERSITY	839	AURORA UNIVERSITY	828
41-42	JACKSONVILLE STATE UNIVERSITY	1,141	LOUISIANA TECH UNIVERSITY	993
43-44	ALABAMA AT BIRMINGHAM, UNIV. OF	1,076	ALABAMA STATE UNIVERSITY	882
47-48	WICHITA STATE UNIVERSITY	1,006	VANDERBILT UNIVERSITY	1,057
49-50	ARKANSAS STATE UNIVERSITY	1,074	PRAIRIE VIEW A&M UNIVERSITY	753

6 TRADITIONAL				
3-4	AURORA UNIVERSITY	886	PRAIRIE VIEW A&M UNIVERSITY	841
5-6	JACKSONVILLE STATE UNIVERSITY	1,055	NORTH CAROLINA A&T STATE UNIVERSITY	875
7-8	ALABAMA AT BIRMINGHAM, UNIV. OF	1,049	NIAGARA UNIVERSITY	1,058
11-12	MARYLAND EASTERN SHORE, UNIV. OF	1,001	MARYVILLE UNIVERSITY	1,027
13-14	WICHITA STATE UNIVERSITY	880	SACRED HEART UNIVERSITY	980
17-18	BELMONT ABBEY COLLEGE	928	FAIRLEIGH DICKINSON UNIVERSITY	868
19-20	CARROLL UNIVERSITY	850	WISCONSIN-WHITEWATER, UNIV. OF	838
21-22	QUINCY UNIVERSITY	802	LONG ISLAND UNIVERSITY	684
27-28	VANDERBILT UNIVERSITY	1,004	SAM HOUSTON STATE UNIVERSITY	923
29-30	ALABAMA A&M UNIVERSITY	880	MCKENDREE UNIVERSITY	944
33-34	JACKSON STATE UNIVERSITY	966	YOUNGSTOWN STATE UNIVERSITY	959
35-36	LOUISIANA TECH UNIVERSITY	951	TULANE UNIVERSITY	1,045
37-38	LEWIS UNIVERSITY	826	INDIANAPOLIS, UNIV. OF	798
41-42	ALABAMA STATE UNIVERSITY	873	NEWMAN UNIVERSITY	901
43-44	OKLAHOMA CHRISTIAN UNIVERSITY	906	WESTERN ILLINOIS UNIVERSITY	881
47-48	MARIAN UNIVERSITY (WI)	937	CARTHAGE COLLEGE	790
49-50	ARKANSAS STATE UNIVERSITY	1,020	WRIGHT STATE UNIVERSITY	921

2026 MUSIC CITY CLASSIC

INDIVIDUAL MATCH RESULTS

Page 2

7	TRADITIONAL			
3-4	INDIANAPOLIS, UNIV. OF	849	SACRED HEART UNIVERSITY	1,072
5-6	JACKSON STATE UNIVERSITY	943	MARYLAND EASTERN SHORE, UNIV. OF	894
7-8	SAM HOUSTON STATE UNIVERSITY	1,165	LONG ISLAND UNIVERSITY	827
11-12	CARTHAGE COLLEGE	749	PRAIRIE VIEW A&M UNIVERSITY	794
13-14	NEWMAN UNIVERSITY	880	WISCONSIN-WHITEWATER, UNIV. OF	835
17-18	YOUNGSTOWN STATE UNIVERSITY	905	MARYVILLE UNIVERSITY	1,027
19-20	WESTERN ILLINOIS UNIVERSITY	972	FAIRLEIGH DICKINSON UNIVERSITY	884
21-22	TULANE UNIVERSITY	1,007	MCKENDREE UNIVERSITY	887
27-28	OKLAHOMA CHRISTIAN UNIVERSITY	927	ALABAMA A&M UNIVERSITY	848
29-30	LOUISIANA TECH UNIVERSITY	1,018	ALABAMA AT BIRMINGHAM, UNIV. OF	947
33-34	ARKANSAS STATE UNIVERSITY	1,046	QUINCY UNIVERSITY	926
35-36	VANDERBILT UNIVERSITY	1,088	CARROLL UNIVERSITY	1,004
37-38	MARIAN UNIVERSITY (WI)	850	BELMONT ABBEY COLLEGE	1,003
41-42	WRIGHT STATE UNIVERSITY	918	NORTH CAROLINA A&T STATE UNIVERSITY	1,074
43-44	LEWIS UNIVERSITY	852	JACKSONVILLE STATE UNIVERSITY	1,094
47-48	NIAGARA UNIVERSITY	1,030	AURORA UNIVERSITY	831
49-50	ALABAMA STATE UNIVERSITY	873	WICHITA STATE UNIVERSITY	958

10	TRADITIONAL			
3-4	MARYLAND EASTERN SHORE, UNIV. OF	1,015	LOUISIANA TECH UNIVERSITY	1,093
5-6	NIAGARA UNIVERSITY	970	WRIGHT STATE UNIVERSITY	987
7-8	BELMONT ABBEY COLLEGE	975	OKLAHOMA CHRISTIAN UNIVERSITY	881
11-12	WICHITA STATE UNIVERSITY	898	MARIAN UNIVERSITY (WI)	892
13-14	CARROLL UNIVERSITY	865	LEWIS UNIVERSITY	1,002
17-18	ALABAMA A&M UNIVERSITY	920	ALABAMA STATE UNIVERSITY	871
19-20	SACRED HEART UNIVERSITY	859	CARTHAGE COLLEGE	827
21-22	JACKSONVILLE STATE UNIVERSITY	1,079	AURORA UNIVERSITY	905
27-28	NORTH CAROLINA A&T STATE UNIVERSITY	1,092	WESTERN ILLINOIS UNIVERSITY	949
29-30	QUINCY UNIVERSITY	858	JACKSON STATE UNIVERSITY	910
33-34	PRAIRIE VIEW A&M UNIVERSITY	780	TULANE UNIVERSITY	883
35-36	LONG ISLAND UNIVERSITY	768	NEWMAN UNIVERSITY	956
37-38	ALABAMA AT BIRMINGHAM, UNIV. OF	962	ARKANSAS STATE UNIVERSITY	1,130
41-42	MARYVILLE UNIVERSITY	1,180	SAM HOUSTON STATE UNIVERSITY	1,054
43-44	WISCONSIN-WHITEWATER, UNIV. OF	978	YOUNGSTOWN STATE UNIVERSITY	998
47-48	MCKENDREE UNIVERSITY	936	INDIANAPOLIS, UNIV. OF	814
49-50	FAIRLEIGH DICKINSON UNIVERSITY	865	VANDERBILT UNIVERSITY	1,082

8	TRADITIONAL			
3-4	WISCONSIN-WHITEWATER, UNIV. OF	1,025	WESTERN ILLINOIS UNIVERSITY	893
5-6	SACRED HEART UNIVERSITY	920	SAM HOUSTON STATE UNIVERSITY	1,072
7-8	FAIRLEIGH DICKINSON UNIVERSITY	859	TULANE UNIVERSITY	903
11-12	LONG ISLAND UNIVERSITY	759	WRIGHT STATE UNIVERSITY	1,015
13-14	MCKENDREE UNIVERSITY	912	YOUNGSTOWN STATE UNIVERSITY	1,025
17-18	NORTH CAROLINA A&T STATE UNIVERSITY	1,060	CARTHAGE COLLEGE	846
19-20	PRAIRIE VIEW A&M UNIVERSITY	895	NEWMAN UNIVERSITY	988
21-22	NIAGARA UNIVERSITY	1,082	INDIANAPOLIS, UNIV. OF	823
27-28	BELMONT ABBEY COLLEGE	885	LOUISIANA TECH UNIVERSITY	1,072
29-30	JACKSONVILLE STATE UNIVERSITY	931	ALABAMA STATE UNIVERSITY	771
33-34	ALABAMA AT BIRMINGHAM, UNIV. OF	926	VANDERBILT UNIVERSITY	1,059
35-36	WICHITA STATE UNIVERSITY	1,063	JACKSON STATE UNIVERSITY	971
37-38	CARROLL UNIVERSITY	931	OKLAHOMA CHRISTIAN UNIVERSITY	954
41-42	MARYLAND EASTERN SHORE, UNIV. OF	998	AURORA UNIVERSITY	918
43-44	ALABAMA A&M UNIVERSITY	717	ARKANSAS STATE UNIVERSITY	973
47-48	QUINCY UNIVERSITY	857	LEWIS UNIVERSITY	966
49-50	MARYVILLE UNIVERSITY	960	MARIAN UNIVERSITY (WI)	772

N/A				
3-4				
5-6				
7-8				
11-12				
13-14				
17-18				
19-20				
21-22				
27-28				
29-30				
33-34				
35-36				
37-38				
41-42				
43-44				
47-48				
49-50				

9	TRADITIONAL			
3-4	SAM HOUSTON STATE UNIVERSITY	1,006	NIAGARA UNIVERSITY	881
5-6	LEWIS UNIVERSITY	874	ALABAMA A&M UNIVERSITY	901
7-8	MARIAN UNIVERSITY (WI)	932	MARYLAND EASTERN SHORE, UNIV. OF	953
11-12	ARKANSAS STATE UNIVERSITY	1,047	CARROLL UNIVERSITY	706
13-14	ALABAMA STATE UNIVERSITY	867	QUINCY UNIVERSITY	885
17-18	VANDERBILT UNIVERSITY	1,002	BELMONT ABBEY COLLEGE	1,072
19-20	JACKSON STATE UNIVERSITY	885	JACKSONVILLE STATE UNIVERSITY	978
21-22	WESTERN ILLINOIS UNIVERSITY	819	PRAIRIE VIEW A&M UNIVERSITY	836
27-28	CARTHAGE COLLEGE	886	LONG ISLAND UNIVERSITY	736
29-30	INDIANAPOLIS, UNIV. OF	859	MARYVILLE UNIVERSITY	976
33-34	AURORA UNIVERSITY	878	WICHITA STATE UNIVERSITY	1,087
35-36	OKLAHOMA CHRISTIAN UNIVERSITY	863	ALABAMA AT BIRMINGHAM, UNIV. OF	997
37-38	NEWMAN UNIVERSITY	1,086	NORTH CAROLINA A&T STATE UNIVERSITY	1,024
41-42	TULANE UNIVERSITY	918	WISCONSIN-WHITEWATER, UNIV. OF	963
43-44	WRIGHT STATE UNIVERSITY	1,021	SACRED HEART UNIVERSITY	1,009
47-48	YOUNGSTOWN STATE UNIVERSITY	986	FAIRLEIGH DICKINSON UNIVERSITY	871
49-50	LOUISIANA TECH UNIVERSITY	962	MCKENDREE UNIVERSITY	953

N/A				
3-4				
5-6				
7-8				
11-12				
13-14				
17-18				
19-20				
21-22				
27-28				
29-30				
33-34				
35-36				
37-38				
41-42				
43-44				
47-48				
49-50				

2026 MUSIC CITY CLASSIC

Individual Standings

POS	BOWLER	SCHOOL	Sum of GAME 1	Sum of GAME 2	Sum of GAME 3	Sum of GAME 4	Sum of GAME 5	Sum of TOTAL	Sum of GAMES	Sum of Avg
1	BRANDOLINO, GIANNA	JACKSONVILLE STATE UNIVERSITY	248	259	224	225	203	1,159	5	231.80
2	BROCK, EMILY	NIAGARA UNIVERSITY	256	249	257	192	195	1,149	5	229.80
3	ABIGANIA, KATELYN	VANDERBILT UNIVERSITY	205	266	215	228	211	1,125	5	225.00
4	BRUNNER, MORGAN	MARYVILLE UNIVERSITY	256	201	161	248	258	1,124	5	224.80
5	TEUBER, ELIZABETH	MARYVILLE UNIVERSITY	233	224	231	202	228	1,118	5	223.60
6	CHEWENS, BREANA	SAM HOUSTON STATE UNIVERSITY	148	280	244	220	217	1,109	5	221.80
7	BACK, KAYLEE	ARKANSAS STATE UNIVERSITY	220	215	218	204	245	1,102	5	220.40
8	SCHULZE, JASMINE	WRIGHT STATE UNIVERSITY	197	201	236	231	235	1,100	5	220.00
9	BADEMCI, CANAN	BELMONT ABBEY COLLEGE	205	210	218	246	209	1,088	5	217.60
10	GREEN, MIYA	SAM HOUSTON STATE UNIVERSITY	232	245	203	182	222	1,084	5	216.80
11	LANG, AMANDA	ARKANSAS STATE UNIVERSITY	200	224	197	232	225	1,078	5	215.60
12	HARTGROVE, PAYTON	NORTH CAROLINA A&T STATE UNIVERSITY	171	209	236	209	253	1,078	5	215.60
13	OLIVA, MADELYNN	ALABAMA AT BIRMINGHAM, UNIV. OF	173	211	207	247	232	1,070	5	214.00
14	KERRIGAN, JULIANA	LOUISIANA TECH UNIVERSITY	228	189	244	193	215	1,069	5	213.80
15	DUQUE, SARA	WICHITA STATE UNIVERSITY	163	245	217	239	194	1,058	5	211.60
16	LEMOND, KARLEIGH	SACRED HEART UNIVERSITY	221	244	202	200	191	1,058	5	211.60
17	BASKIN, ALIVIA	YOUNGSTOWN STATE UNIVERSITY	172	204	241	183	246	1,046	5	209.20
18	PABST, BROOKE	MARYVILLE UNIVERSITY	158	193	222	202	269	1,044	5	208.80
19	SILLIS, JESSICA	SAM HOUSTON STATE UNIVERSITY	224	198	188	214	217	1,041	5	208.20
20	SANTOS RIVERO, MARIANA	MARYLAND EASTERN SHORE, UNIV. OF	213	209	224	178	215	1,039	5	207.80
21	CRUMLEY, PAIGHTON	NEWMAN UNIVERSITY	172	204	223	225	210	1,034	5	206.80
22	BUNK, HOPE	SACRED HEART UNIVERSITY	215	210	195	224	188	1,032	5	206.40
23	THOMA, MAGGIE	ARKANSAS STATE UNIVERSITY	212	210	203	201	205	1,031	5	206.20
24	ACKERMAN, KATE	NIAGARA UNIVERSITY	193	211	215	192	215	1,026	5	205.20
25	HENDERSON, DANNIELLE	VANDERBILT UNIVERSITY	222	177	238	181	206	1,024	5	204.80
26	SARNTONG, NOEY	SAM HOUSTON STATE UNIVERSITY	169	217	247	190	199	1,022	5	204.40
27	LINDLEY, HALEY	VANDERBILT UNIVERSITY	212	186	224	196	196	1,014	5	202.80
28	OBRYANT, ANNALISE	JACKSONVILLE STATE UNIVERSITY	192	245	177	179	219	1,012	5	202.40
29	RUZEVICH, ANNEMARIE	AURORA UNIVERSITY	240	179	244	155	191	1,009	5	201.80
30	GORDON, JAYDA	MARYLAND EASTERN SHORE, UNIV. OF	203	203	225	175	202	1,008	5	201.60
31	RATHMANN, ADDISON	LEWIS UNIVERSITY	204	176	218	189	220	1,007	5	201.40
32	HOLIAN, EMILY	BELMONT ABBEY COLLEGE	184	223	162	246	191	1,006	5	201.20
33	JUSTICE, TORI	OKLAHOMA CHRISTIAN UNIVERSITY	230	189	186	210	188	1,003	5	200.60
34	WOODS, ASHTYN	WICHITA STATE UNIVERSITY	178	184	203	246	190	1,001	5	200.20
35	DAVIS, ZANDRIA	OKLAHOMA CHRISTIAN UNIVERSITY	160	247	212	165	216	1,000	5	200.00
36	GRAHAM, CHARISSE	NORTH CAROLINA A&T STATE UNIVERSITY	174	185	212	223	204	998	5	199.60
37	COLSTON, MADISON	ALABAMA AT BIRMINGHAM, UNIV. OF	275	195	204	157	167	998	5	199.60
38	SMITH, JOCELYN	NIAGARA UNIVERSITY	221	185	204	173	214	997	5	199.40
39	COLON, VALERIA	TULANE UNIVERSITY	196	216	213	171	197	993	5	198.60
40	DARWIN, ZOEY	WISCONSIN-WHITEWATER, UNIV. OF	169	183	232	196	211	991	5	198.20
41	STULL, KAITLYN	JACKSONVILLE STATE UNIVERSITY	190	204	171	201	225	991	5	198.20
42	VANDUINEN, KARLI	ARKANSAS STATE UNIVERSITY	206	205	181	173	222	987	5	197.40
43	MASON, AMBER	YOUNGSTOWN STATE UNIVERSITY	192	201	181	210	200	984	5	196.80
44	KESLER, KAITLYN	MARIAN UNIVERSITY (WI)	183	186	179	222	214	984	5	196.80
45	STRETCH, JENNA	LOUISIANA TECH UNIVERSITY	197	203	199	192	192	983	5	196.60
46	WASHINGTON, FAITH	JACKSON STATE UNIVERSITY	252	168	157	198	208	983	5	196.60
47	BUTT, AVA	CARROLL UNIVERSITY	206	243	173	175	181	978	5	195.60
48	ENRIQUEZ, HEIDI	AURORA UNIVERSITY	170	216	181	200	205	972	5	194.40

POS	BOWLER	SCHOOL	Sum of GAME 1	Sum of GAME 2	Sum of GAME 3	Sum of GAME 4	Sum of GAME 5	Sum of TOTAL	Sum of GAMES	Sum of Avg
49	BEISSEL, KARA	YOUNGSTOWN STATE UNIVERSITY	211	169	216	183	193	972	5	194.40
50	WHITE, VICTORYA	NORTH CAROLINA A&T STATE UNIVERSITY	185	190	192	200	204	971	5	194.20
51	HUNTING, JAYDYN	WESTERN ILLINOIS UNIVERSITY	187	227	206	171	179	970	5	194.00
52	SHATTUCK, ALLI	WRIGHT STATE UNIVERSITY	174	203	202	179	211	969	5	193.80
53	HART, EMILY	SAM HOUSTON STATE UNIVERSITY	150	225	190	200	199	964	5	192.80
54	JACOBSON, CLAIRE	NEWMAN UNIVERSITY	187	187	235	213	140	962	5	192.40
55	MATIASEK, PAIGE	TULANE UNIVERSITY	187	218	168	215	172	960	5	192.00
56	WINGERTER, JORDAN	ALABAMA AT BIRMINGHAM, UNIV. OF	194	195	159	193	216	957	5	191.40
57	STOLAKIS, MIA	TULANE UNIVERSITY	227	191	160	212	164	954	5	190.80
58	CHRZANOWSKI, AMY	YOUNGSTOWN STATE UNIVERSITY	173	172	205	214	189	953	5	190.60
59	SOTO, ASHLEY	NEWMAN UNIVERSITY	190	171	179	190	222	952	5	190.40
60	SAYLES, MIA	WRIGHT STATE UNIVERSITY	210	171	180	199	190	950	5	190.00
61	YOCKEL, MADILYN	SACRED HEART UNIVERSITY	201	199	171	184	194	949	5	189.80
62	BENNETT, HAYDEN	QUINCY UNIVERSITY	181	196	181	202	188	948	5	189.60
63	JOHNSON, LANDRY	FAIRLEIGH DICKINSON UNIVERSITY	203	168	179	161	236	947	5	189.40
64	SWIATOCHA, SAVANNAH	MARYVILLE UNIVERSITY	183	211	166	174	213	947	5	189.40
65	SKIMMER, SYDNEY	NIAGARA UNIVERSITY	210	204	210	172	151	947	5	189.40
66	NORVELL, JORDYN	WISCONSIN-WHITEWATER, UNIV. OF	190	163	179	203	211	946	5	189.20
67	KUSTER, TARA	BELMONT ABBEY COLLEGE	191	229	174	186	165	945	5	189.00
68	BOWE, ASHLEY	WISCONSIN-WHITEWATER, UNIV. OF	158	171	230	193	191	943	5	188.60
69	BROWN, CIERRA	MCKENDREE UNIVERSITY	208	180	191	188	176	943	5	188.60
70	STACE, TAYLOR	INDIANAPOLIS, UNIV. OF	165	201	198	208	170	942	5	188.40
71	GARCIA, FERNANDA	QUINCY UNIVERSITY	163	202	203	201	169	938	5	187.60
72	UGBINADA, ROSE	ALABAMA A&M UNIVERSITY	179	189	154	203	210	935	5	187.00
73	HUBERT, PAIGE	JACKSON STATE UNIVERSITY	184	151	210	183	206	934	5	186.80
74	CONWAY, MACKENZIE	JACKSON STATE UNIVERSITY	171	251	193	161	157	933	5	186.60
75	LUGO, SAIDA	JACKSON STATE UNIVERSITY	189	199	198	155	191	932	5	186.40
76	SHIPP, JORDAN	ALABAMA AT BIRMINGHAM, UNIV. OF	225	186	157	196	167	931	5	186.20
77	KNIGHT, JENNA	ALABAMA STATE UNIVERSITY	203	192	183	185	167	930	5	186.00
78	BROOKS, MILEY	CARROLL UNIVERSITY	153	193	236	145	202	929	5	185.80
79	PITTS, ARA	MARYLAND EASTERN SHORE, UNIV. OF	177	173	176	196	204	926	5	185.20
80	VANDERHEI, ELIZABETH	WISCONSIN-WHITEWATER, UNIV. OF	163	160	197	193	208	921	5	184.20
81	SCIORTINO, SAMANTHA	CARROLL UNIVERSITY	202	200	185	145	188	920	5	184.00
82	WESTMORELAND, MICHELE	ALABAMA A&M UNIVERSITY	153	181	184	185	216	919	5	183.80
83	VARANO, GIANNA	YOUNGSTOWN STATE UNIVERSITY	211	159	182	196	170	918	5	183.60
84	ERESBEY, MELINA	WESTERN ILLINOIS UNIVERSITY	207	171	181	175	168	902	5	180.40
85	PRETTYMAN, MEGAN	SACRED HEART UNIVERSITY	159	236	170	197	140	902	5	180.40
86	SVEHLA, KATHARINE	LEWIS UNIVERSITY	165	175	178	192	191	901	5	180.20
87	WILLIAMS, CASSIDY	WESTERN ILLINOIS UNIVERSITY	176	172	210	175	165	898	5	179.60
88	HENDERSON, TIARA	JACKSON STATE UNIVERSITY	170	174	213	188	148	893	5	178.60
89	LEE, TAYLOR	ALABAMA STATE UNIVERSITY	172	182	170	184	182	890	5	178.00
90	CASH, ALYSSA	INDIANAPOLIS, UNIV. OF	202	180	177	168	161	888	5	177.60
91	BOHN, SYDNEY	VANDERBILT UNIVERSITY	0	224	200	206	253	883	4	220.75
92	MABRY, JADEYN	FAIRLEIGH DICKINSON UNIVERSITY	167	170	168	181	194	880	5	176.00
93	HALL, JASMINE	NORTH CAROLINA A&T STATE UNIVERSITY	0	255	211	194	220	880	4	220.00
94	GONZALES, ISABEL	CARTHAGE COLLEGE	162	160	203	184	170	879	5	175.80
95	SMITH, JAYCIE	MCKENDREE UNIVERSITY	187	180	151	165	195	878	5	175.60
96	MORENO, MALEENA	WESTERN ILLINOIS UNIVERSITY	119	199	176	171	213	878	5	175.60
97	RICCI, CHRISTINE	AURORA UNIVERSITY	175	154	182	181	183	875	5	175.00
98	ARCINIEGA-SANCHEZ, EMMARY	CARTHAGE COLLEGE	182	159	160	197	175	873	5	174.60
99	BROWN, NEVAEH	PRAIRIE VIEW A&M UNIVERSITY	204	147	191	172	158	872	5	174.40
100	PHILLIPS, MADI	WICHITA STATE UNIVERSITY	0	185	278	198	205	866	4	216.50
101	BUTTOCOVLA, AUTUMN	FAIRLEIGH DICKINSON UNIVERSITY	182	169	171	179	161	862	5	172.40
102	TOWNSEND, CHANDLER	PRAIRIE VIEW A&M UNIVERSITY	152	164	211	188	146	861	5	172.20
103	DAVIS, RHIANNON	OKLAHOMA CHRISTIAN UNIVERSITY	171	171	181	148	189	860	5	172.00
104	SAMS, JULIANA	NORTH CAROLINA A&T STATE UNIVERSITY	0	235	209	198	211	853	4	213.25
105	DULCIO, NILA	ALABAMA A&M UNIVERSITY	207	169	135	162	177	850	5	170.00
106	RUBI, SARAH	TULANE UNIVERSITY	168	170	180	181	151	850	5	170.00
107	FOGARTY, EMILY	FAIRLEIGH DICKINSON UNIVERSITY	167	194	164	171	147	843	5	168.60
108	HONSIK, ANNIE	AURORA UNIVERSITY	174	142	171	173	180	840	5	168.00
109	WILLIAMS, NEVAEH	ALABAMA STATE UNIVERSITY	164	181	152	191	151	839	5	167.80

POS	BOWLER	SCHOOL	Sum of GAME 1	Sum of GAME 2	Sum of GAME 3	Sum of GAME 4	Sum of GAME 5	Sum of TOTAL	Sum of GAMES	Sum of Avg
110	RUSK, EMILY	WISCONSIN-WHITEWATER, UNIV. OF	158	158	187	178	157	838	5	167.60
111	FUENTES, MIRANDA	PRAIRIE VIEW A&M UNIVERSITY	171	143	152	182	182	830	5	166.00
112	DAVILA, FRANCES	LOUISIANA TECH UNIVERSITY	190	232	193	210	0	825	4	206.25
113	HERDKLOTZ, HANNAH	QUINCY UNIVERSITY	155	170	165	158	167	815	5	163.00
114	ARAUJO, ARIANNA	LOUISIANA TECH UNIVERSITY	0	202	256	173	183	814	4	203.50
115	FROST, AIRIE	CARTHAGE COLLEGE	156	152	170	164	171	813	5	162.60
116	BEECHBOARD, CHEYENNE	INDIANAPOLIS, UNIV. OF	163	162	149	172	166	812	5	162.40
117	MILLER, OLIVIA	ALABAMA STATE UNIVERSITY	199	150	117	162	182	810	5	162.00
118	DOMAGUIN, AVERY	VANDERBILT UNIVERSITY	198	235	182	191	0	806	4	201.50
119	LEWIS, CAROLINE	PRAIRIE VIEW A&M UNIVERSITY	157	183	175	147	142	804	5	160.80
120	ALMEIDA, MARIANE	MARYLAND EASTERN SHORE, UNIV. OF	0	164	225	180	233	802	4	200.50
121	HOLCOMB, LINNEA	TULANE UNIVERSITY	267	212	182	139	0	800	4	200.00
122	JEANNERET, RYLIE	WRIGHT STATE UNIVERSITY	0	197	210	210	181	798	4	199.50
123	WHEELER, KATELYN	LONG ISLAND UNIVERSITY	136	181	178	174	118	787	5	157.40
124	THOMAS, NIKIA	ALABAMA STATE UNIVERSITY	135	168	149	145	189	786	5	157.20
125	WRIGHT, ALLY	LONG ISLAND UNIVERSITY	151	184	142	146	162	785	5	157.00
126	ALEXANDER, SKYLAR	PRAIRIE VIEW A&M UNIVERSITY	157	157	166	147	152	779	5	155.80
127	KONTOS, KADIE	LEWIS UNIVERSITY	0	178	207	199	194	778	4	194.50
128	ZINN, EMMA	MCKENDREE UNIVERSITY	0	181	255	162	172	770	4	192.50
129	O'DONNELL, ERIN	LONG ISLAND UNIVERSITY	126	164	165	149	159	763	5	152.60
130	LLOYD, AUBREY	BELMONT ABBEY COLLEGE	0	172	209	181	190	752	4	188.00
131	CASE, ADDYSEN	MCKENDREE UNIVERSITY	184	162	0	203	199	748	4	187.00
132	AVALOS, PAULINA	LOUISIANA TECH UNIVERSITY	181	192	180	194	0	747	4	186.75
133	KIMBALL, SHANNA	MCKENDREE UNIVERSITY	150	0	165	235	194	744	4	186.00
134	SCOTT, TALLIE	NEWMAN UNIVERSITY	169	0	181	200	191	741	4	185.25
135	STEINKE, ANGELA	WESTERN ILLINOIS UNIVERSITY	192	203	120	0	224	739	4	184.75
136	GUYTON, SIMONE	ALABAMA A&M UNIVERSITY	158	160	117	145	156	736	5	147.20
137	FRIEND, AALIYAH	MARYLAND EASTERN SHORE, UNIV. OF	203	145	0	224	161	733	4	183.25
138	MCCONAUGHY, AINSLEE	MARYVILLE UNIVERSITY	197	198	180	150	0	725	4	181.25
139	DERBY, ABBIE	NIAGARA UNIVERSITY	0	181	196	152	195	724	4	181.00
140	ANDERSON, BEAU	WICHITA STATE UNIVERSITY	0	171	202	188	136	697	4	174.25
141	CARRIVEAU, MADISON	MARIAN UNIVERSITY (WI)	181	153	0	189	172	695	4	173.75
142	JOHNSON, MACIE	QUINCY UNIVERSITY	0	193	167	161	159	680	4	170.00
143	HERMAN, LILIAN	LEWIS UNIVERSITY	180	166	178	137	0	661	4	165.25
144	RIMER, ELANA	MARIAN UNIVERSITY (WI)	181	140	0	177	159	657	4	164.25
145	WINTER, EMMA	CARTHAGE COLLEGE	150	0	168	179	150	647	4	161.75
146	HIRSCH, NATALIE	CARROLL UNIVERSITY	154	188	157	0	143	642	4	160.50
147	CLAROS-SANCHEZ, ESMERALDA	LONG ISLAND UNIVERSITY	0	159	134	145	191	629	4	157.25
148	WAHLMEIER, KAYLIN	NEWMAN UNIVERSITY	0	0	170	258	193	621	3	207.00
149	WAGNER, PAIGE	WICHITA STATE UNIVERSITY	216	0	0	216	173	605	3	201.67
150	KLEMENCIC, ERIN	JACKSONVILLE STATE UNIVERSITY	223	198	172	0	0	593	3	197.67
151	MORENO, REGINA	ALABAMA AT BIRMINGHAM, UNIV. OF	0	0	199	204	180	583	3	194.33
152	LEIENDECKER, ABBIE	JACKSONVILLE STATE UNIVERSITY	202	188	187	0	0	577	3	192.33
153	MALDONADO, JULIA	LONG ISLAND UNIVERSITY	162	139	140	122	0	563	4	140.75
154	SAYLES, DOTTIE	WRIGHT STATE UNIVERSITY	0	0	187	202	170	559	3	186.33
155	OGLE, GRACE	MCKENDREE UNIVERSITY	215	184	150	0	0	549	3	183.00
156	RUSZCZAK, KAITLYN	ARKANSAS STATE UNIVERSITY	182	192	174	0	0	548	3	182.67
157	STOCKSTILL, KALEE	OKLAHOMA CHRISTIAN UNIVERSITY	0	0	205	191	149	545	3	181.67
158	GERMADNIG, KAYLEIGH	FAIRLEIGH DICKINSON UNIVERSITY	0	183	177	179	0	539	3	179.67
159	VOGT, DELANIE	MARIAN UNIVERSITY (WI)	203	191	144	0	0	538	3	179.33
160	CLEMONS, BRIANNA	MARIAN UNIVERSITY (WI)	0	0	156	190	187	533	3	177.67
161	ARCANGEL, CIRA	SACRED HEART UNIVERSITY	0	0	182	204	146	532	3	177.33
162	KLINE, MORGAN	WICHITA STATE UNIVERSITY	182	173	163	0	0	518	3	172.67
163	BIALKE, KATIE	MARIAN UNIVERSITY (WI)	189	180	145	0	0	514	3	171.33
164	BURROW, JAYMIE	OKLAHOMA CHRISTIAN UNIVERSITY	182	165	0	149	0	496	3	165.33
165	MICHEL, KIERSTEN	BELMONT ABBEY COLLEGE	203	169	122	0	0	494	3	164.67
166	MCPEAK, MACKINZIE	QUINCY UNIVERSITY	148	0	0	163	175	486	3	162.00
167	KLOK, ALICYN	CARTHAGE COLLEGE	0	156	0	162	161	479	3	159.67
168	HELDMAN, EMILY	INDIANAPOLIS, UNIV. OF	121	171	0	0	185	477	3	159.00
169	AUCLAIR, ALEX-ANNE	ARKANSAS STATE UNIVERSITY	0	0	0	237	233	470	2	235.00
170	MEADOWS, SOPHIA	INDIANAPOLIS, UNIV. OF	147	0	170	149	0	466	3	155.33
171	BARTLETT, HANNAH	CARROLL UNIVERSITY	0	180	180	103	0	463	3	154.33

POS	BOWLER	SCHOOL	Sum of GAME 1	Sum of GAME 2	Sum of GAME 3	Sum of GAME 4	Sum of GAME 5	Sum of TOTAL	Sum of GAMES	Sum of Avg
172	ROEN, ISABELLA	MARIAN UNIVERSITY (WI)	0	0	148	154	160	462	3	154.00
173	FIELDS, LILLIAN	QUINCY UNIVERSITY	155	165	141	0	0	461	3	153.67
174	VALDEZ, NICOLL	OKLAHOMA CHRISTIAN UNIVERSITY	163	155	0	0	139	457	3	152.33
175	TIGNOR, ALEXIS	BELMONT ABBEY COLLEGE	0	0	0	213	220	433	2	216.50
176	MAGSAM, KEIRA	JACKSONVILLE STATE UNIVERSITY	0	0	0	200	208	408	2	204.00
177	YODER, EMMA	JACKSONVILLE STATE UNIVERSITY	0	0	0	173	224	397	2	198.50
178	TREXLER, KYLEE	LOUISIANA TECH UNIVERSITY	155	0	0	0	237	392	2	196.00
179	MASON, SAMANTHA	ALABAMA A&M UNIVERSITY	0	0	0	206	161	367	2	183.50
180	LICAUSI, MORGAN	SACRED HEART UNIVERSITY	184	183	0	0	0	367	2	183.50
181	MCCANDLESS, LEAH	LEWIS UNIVERSITY	136	0	0	0	223	359	2	179.50
182	BAEZA, MICHELLE	LEWIS UNIVERSITY	0	0	185	157	0	342	2	171.00
183	SCHNEIDER, SAVANNAH	ALABAMA AT BIRMINGHAM, UNIV. OF	182	160	0	0	0	342	2	171.00
184	MIXON, MORIAH	ALABAMA A&M UNIVERSITY	183	149	0	0	0	332	2	166.00
185	FISHER, KYLIE	WRIGHT STATE UNIVERSITY	181	146	0	0	0	327	2	163.50
186	YOUNG, CLAIRE	AURORA UNIVERSITY	0	0	0	169	146	315	2	157.50
187	KICK, NINA	LEWIS UNIVERSITY	141	0	0	0	174	315	2	157.50
188	SHAMBRY, MADISYN	INDIANAPOLIS, UNIV. OF	0	0	0	162	132	294	2	147.00
189	LONDON, GRACE	CARROLL UNIVERSITY	0	0	0	138	151	289	2	144.50
190	LATHROP, MAXINE	CARTHAGE COLLEGE	140	0	145	0	0	285	2	142.50
191	ONG, RACHEL	LOUISIANA TECH UNIVERSITY	0	0	0	0	266	266	1	266.00
192	KENT, NATALIE	VANDERBILT UNIVERSITY	0	0	0	0	216	216	1	216.00
193	INGERSOLL, ALEXIS	MARYVILLE UNIVERSITY	0	0	0	0	212	212	1	212.00
194	BECERRA DIAZ, GABRIELA	MARYLAND EASTERN SHORE, UNIV. OF	205	0	0	0	0	205	1	205.00
195	FIGERT, EMMA	TULANE UNIVERSITY	0	0	0	0	199	199	1	199.00
196	MILLER, KASSIDY	NEWMAN UNIVERSITY	183	0	0	0	0	183	1	183.00
197	COLLINS, DAKOTA	NIAGARA UNIVERSITY	178	0	0	0	0	178	1	178.00
198	BURGIN, SAVANNAH	NORTH CAROLINA A&T STATE UNIVERSITY	175	0	0	0	0	175	1	175.00
199	GATTENBY, CARLEN	OKLAHOMA CHRISTIAN UNIVERSITY	0	0	170	0	0	170	1	170.00
200	ESCAMILLA, ALEXA	NORTH CAROLINA A&T STATE UNIVERSITY	170	0	0	0	0	170	1	170.00
201	WALBAUM, DANIELLE	NEWMAN UNIVERSITY	0	168	0	0	0	168	1	168.00
202	VARANO, VICTORIA	VANDERBILT UNIVERSITY	167	0	0	0	0	167	1	167.00
203	MESHEW, ADDY	WRIGHT STATE UNIVERSITY	159	0	0	0	0	159	1	159.00
204	AGUILAR, AILYN	LEWIS UNIVERSITY	0	157	0	0	0	157	1	157.00
205	YOCKMAN, JANAЕ	NEWMAN UNIVERSITY	0	150	0	0	0	150	1	150.00
206	SCHULIST, ISABELLA	FAIRLEIGH DICKINSON UNIVERSITY	149	0	0	0	0	149	1	149.00
207	TOSTO, SOFIA	MARYLAND EASTERN SHORE, UNIV. OF	0	0	148	0	0	148	1	148.00
208	MILLER, AYZIA	BELMONT ABBEY COLLEGE	145	0	0	0	0	145	1	145.00
209	BOLLEA, KENDALL	WICHITA STATE UNIVERSITY	141	0	0	0	0	141	1	141.00
210	FREISCHLAG, MADISON	AURORA UNIVERSITY	0	0	140	0	0	140	1	140.00
211	LEONARD, GRACE	AURORA UNIVERSITY	0	140	0	0	0	140	1	140.00
212	GUILLETTE, TWILA	LONG ISLAND UNIVERSITY	0	0	0	0	138	138	1	138.00
213	DAVIS, KAILYN	CARROLL UNIVERSITY	135	0	0	0	0	135	1	135.00
214	MUSKOPF, ANJA	INDIANAPOLIS, UNIV. OF	0	135	0	0	0	135	1	135.00
215	LUNA-ASANO, ALYSSANDRA	INDIANAPOLIS, UNIV. OF	0	0	129	0	0	129	1	129.00
216	HUBER, SKYLAR	WESTERN ILLINOIS UNIVERSITY	0	0	0	127	0	127	1	127.00
217	WIERTELAK, SAMANTHA	AURORA UNIVERSITY	127	0	0	0	0	127	1	127.00
218	RICCIO, ALYSSA	FAIRLEIGH DICKINSON UNIVERSITY	0	0	0	0	127	127	1	127.00
219	NELSON, THALIA	ALABAMA A&M UNIVERSITY	0	0	127	0	0	127	1	127.00
220	BAKER, KYLEAH	CARTHAGE COLLEGE	0	122	0	0	0	122	1	122.00
221	LIU, CHLOE	LONG ISLAND UNIVERSITY	109	0	0	0	0	109	1	109.00

2026 MUSIC CITY CLASSIC

FAIRLEIGH DICKINSON UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
JOHNSON, LANDRY	203	168	179	161	236	947	5	189.40
MABRY, JADEYN	167	170	168	181	194	880	5	176.00
BUTTOCOVLA, AUTUMN	182	169	171	179	161	862	5	172.40
SCHULIST, ISABELLA	149	-	-	-	-	149	1	149.00
FOGARTY, EMILY	167	194	164	171	147	843	5	168.60
GERMADNIG, KAYLEIGH	-	183	177	179	-	539	3	179.67
RICCIO, ALYSSA	-	-	-	-	127	127	1	127.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	868	884	859	871	865	4,347	25	869.4
Opponent Score	928	972	903	986	1,082	4,871		974.2
Opponent	BAC	WIU	TUL	YSU	VAN			
W/L	L	L	L	L	L			0 - 5

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															169	155	185
	221	193	193	180	180		Game 2	202	197	209					202	197	209
	169	179	225	188	210		Game 3	203	186	171					203	186	171
	205	226	169	218	175		Game 4	181	179	197					181	179	197
	187	176	176	185	195		Game 5	201	166	153					201	166	153
	-	-	-	-	-		Game 6	168	222	201					168	222	201
	-	-	-	-	-		Game 7	246	193	-					246	193	-
	-	-	-	-	-		Tie Breaker	-	-	-					-	-	-
	-	-	-	-	-												
	951	929	948	966	920	4,714	Total	1,362	1,325	1,120					1,362	1,325	1,120
	860	983	1,106	904	925	4,778	Opponent Score	1,255	1,314	1,073					1,255	1,314	1,073
	IND	WRT	SHSU	CTC	NEW		Opponent	OCU	MCK	OCU					OCU	MCK	OCU
	W	L	L	W	L	2 - 3	W/L	4-3	3-4	4-2					4-3	3-4	4-2

INDIANAPOLIS, UNIV. OF	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
CASH, ALYSSA	202	180	177	168	161	888	5	177.60
BEECHBOARD, CHEYENNE	163	162	149	172	166	812	5	162.40
STACE, TAYLOR	165	201	198	208	170	942	5	188.40
SHAMBRY, MADISYN	-	-	-	162	132	294	2	147.00
MEADOWS, SOPHIA	147	-	170	149	-	466	3	155.33
MUSKOPF, ANJA	-	135	-	-	-	135	1	135.00
HELDMAN, EMILY	121	171	-	-	185	477	3	159.00
LUNA-ASANO, ALYSSANDRA	-	-	129	-	-	129	1	129.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	798	849	823	859	814	4,143	25	828.6
Opponent Score	826	1,072	1,082	976	936	4,892		978.4
Opponent	LEW	SHU	NIA	MAR	MCK			
W/L	L	L	L	L	L			0 - 5

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															173	219	200
	155	167	159	165	173		Game 2	192	154	157					192	154	157
	156	175	169	160	166		Game 3	140	190	146					140	190	146
	139	184	182	166	170		Game 4	144	160	182					144	160	182
	237	168	157	209	174		Game 5	158	148	204					158	148	204
	-	-	-	-	-		Game 6	-	152	163					-	152	163
	-	-	-	-	-		Game 7	-	-	198					-	-	198
	-	-	-	-	-		Tie Breaker	-	-	-					-	-	-
	-	-	-	-	-												
	860	913	867	859	879	4,378	Total	783	982	1,210					783	982	1,210
	951	776	958	1,018	806	4,509	Opponent Score	843	991	1,184					843	991	1,184
	FDU	PVAM	UWW	NCAT	LIU		Opponent	QUI	CTC	AUR					QUI	CTC	AUR
	L	W	L	L	W	2 - 3	W/L	1-4	2-4	4-3					1-4	2-4	4-3

JACKSON STATE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
CONWAY, MACKENZIE	171	251	193	161	157	933	5	186.60
LUGO, SAIDA	189	199	198	155	191	932	5	186.40
HUBERT, PAIGE	184	151	210	183	206	934	5	186.80
WASHINGTON, FAITH	252	168	157	198	208	983	5	196.60
HENDERSON, TIARA	170	174	213	188	148	893	5	178.60
SIMPSON, BROOKLYN	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	966	943	971	885	910	4,675	25	935.0
Opponent Score	959	894	1,063	978	858	4,752		950.4
Opponent	YSU	MES	WSU	JVL	QUI			
W/L	W	W	L	L	W			3 - 2

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															199	134	212
	191	177	220	236	198		Game 2	169	185	181					169	185	181
	202	187	178	206	232		Game 3	167	206	145					167	206	145
	187	189	187	193	211		Game 4	168	184	213					168	184	213
	232	198	193	144	195		Game 5	155	174	-					155	174	-
	-	-	-	-	-		Game 6	198	-	-					198	-	-
	-	-	-	-	-		Game 7	171	-	-					171	-	-
	-	-	-	-	-		Tie Breaker	-	-	-					-	-	-
	-	-	-	-	-												
	1,011	885	990	939	1,028	4,853	Total	1,206	964	704					1,206	964	704
	861	1,030	876	859	1,090	4,716	Opponent Score	1,332	842	802					1,332	842	802
	AAM	UAB	CAR	BAC	SHU		Opponent	NEW	MES	NEW					NEW	MES	NEW
	W	L	W	W	L	3 - 2	W/L	2.5-4.5	4-1	0-4					2.5-4.5	4-1	0-4

JACKSONVILLE STATE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
OBRYANT, ANNALISE	192	245	177	179	219	1,012	5	202.40
LEIENDECKER, ABBIE	202	188	187	-	-	577	3	192.33
KLEMENCIC, ERIN	223	198	172	-	-	593	3	197.67
MAGSAM, KEIRA	-	-	-	200	208	408	2	204.00
MITSKAVICH, MELIA	-	-	-	-	-	-	-	0.00
YODER, EMMA	-	-	-	173	224	397	2	198.50
BRANDOLINO, GIANNA	248	259	224	225	203	1,159	5	231.80
STULL, KAITLYN	190	204	171	201	225	991	5	198.20
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
.	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	1,055	1,094	931	978	1,079	5,137	25	1027.4
Opponent Score	875	852	771	885	905	4,288		857.6
Opponent	NCAT	LEW	ASU	JSU	AUR			
W/L	W	W	W	W	W			5 - 0

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															237	182	216
	236	232	246	166													

2026 MUSIC CITY CLASSIC

LEWIS UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
MCCANDLESS, LEAH	136	-	-	-	223	359	2	179.50
SVEHLA, KATHARINE	165	175	178	192	191	901	5	180.20
RATHMANN, ADDISON	204	176	218	189	220	1,007	5	201.40
BAEZA, MICHELLE	-	-	185	157	-	342	2	171.00
AGULLAR, ALLYN	-	157	-	-	-	157	1	157.00
HERMAN, LILIAN	180	166	178	137	-	661	4	165.25
KONTOS, KADIE	-	178	207	199	194	778	4	194.50
KICK, NINA	141	-	-	-	174	315	2	157.50
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-
Total	826	852	966	874	1,002	4,520	25	904.0
Opponent Score	798	1,094	857	901	865	4,515		903.0
Opponent	IND	JVL	QUI	AAM	CAR			
W/L	W	L	W	L	W			3 - 2

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															178	193	189
151	156	154	170	154			Game 1	178	193	189							
149	198	151	155	156			Game 2	152	138	181							
161	193	164	172	161			Game 3	184	181	201							
161	170	200	201	170			Game 4	174	212	144							
169	193	168	159	146			Game 5	134	169	178							
-	-	-	-	-			Game 6	134	221	-							
-	-	-	-	-			Game 7	184	-	-							
-	-	-	-	-			Tie Breaker	-	-	-							
-	-	-	-	-				-	-	-							
791	910	837	857	787	4,182	Total		1,140	1,114	893							
1,037	1,017	982	872	991	4,899	Opponent Score		1,073	1,145	815							
UAB	NCAT	BAC	MES	WSU		Opponent		AAM	QUI	AAM							
L	L	L	L	L	0 - 5	W/L		3-4	4-2	4-1							

LONG ISLAND UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
LIU, CHLOE	109	-	-	-	109	109	1	109.00
GUILLETTE, TWILA	-	-	-	-	138	138	1	138.00
WHEELER, KATELYN	136	181	178	174	118	787	5	157.40
WRIGHT, ALLY	151	184	142	146	162	785	5	157.00
O'DONNELL, ERIN	126	164	165	149	159	763	5	152.60
MALDONADO, JULIA	162	139	140	122	-	563	4	140.75
CLAROS-SANCHEZ, ESMERALDA	-	159	134	145	191	629	4	157.25
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-
Total	684	827	759	736	768	3,774	25	754.8
Opponent Score	802	1,165	1,015	886	956	4,824		964.8
Opponent	QUI	SHSU	WRT	CTC	NEW			
W/L	L	L	L	L	L			0 - 5

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															155	159	146
158	162	206	180	153			Game 1	155	159	146							
206	147	209	187	127			Game 2	154	188	139							
154	159	159	136	164			Game 3	146	144	157							
156	159	161	189	186			Game 4	167	180	157							
157	179	137	164	176			Game 5	158	-	204							
-	-	-	-	-			Game 6	172	-	151							
-	-	-	-	-			Game 7	-	-	-							
-	-	-	-	-			Tie Breaker	-	-	-							
-	-	-	-	-				-	-	-							
831	806	872	856	806	4,171	Total		952	671	954							
807	945	1,005	1,051	879	4,687	Opponent Score		1,016	838	1,070							
WIU	YSU	TUL	ASU	IND		Opponent		PVAM	JVL	PVAM							
W	L	L	L	L	1 - 4	W/L		2-4	0-4	2-4							

LOUISIANA TECH UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
TREXLER, KYLEE	155	-	-	-	237	392	2	196.00
DAVILA, FRANCES	190	232	193	210	-	825	4	206.25
AVALOS, PAULINA	181	192	180	194	-	747	4	186.75
STRETCH, JENNA	197	203	199	192	192	983	5	196.60
KERRIGAN, JULIANA	228	189	244	193	215	1,069	5	213.80
ONG, RACHEL	-	-	-	-	266	266	1	266.00
ARAUJO, ARIANNA	-	202	256	173	183	814	4	203.50
BARES, OLIVIA	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-
Total	951	1,018	1,072	962	1,093	5,096	25	1019.2
Opponent Score	1,045	947	885	953	1,015	4,845		969.0
Opponent	TUL	UAB	BAC	MCK	MES			
W/L	L	W	W	W	W			4 - 1

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															170	193	212
195	226	193	226	166			Game 1	170	193	212							
188	198	212	214	174			Game 2	148	213	193							
214	215	215	178	202			Game 3	203	179	231							
182	220	210	233	159			Game 4	146	217	183							
214	194	163	213	173			Game 5	185	205	180							
-	-	-	-	-			Game 6	-	172	-							
-	-	-	-	-			Game 7	-	-	-							
-	-	-	-	-			Tie Breaker	-	-	-							
-	-	-	-	-				-	-	-							
993	1,053	993	1,064	874	4,977	Total		852	1,179	999							
936	818	1,141	908	835	4,638	Opponent Score		1,043	1,149	984							
WSU	QUI	JVL	AAM	CAR		Opponent		NCAT	MAR	NCAT							
W	W	L	W	W	4 - 1	W/L		1-4	4-2	4-1							

MARIAN UNIVERSITY (WI)	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
VOGT, DELANIE	203	191	144	-	538	3	179.33	
RIMER, ELANA	181	140	-	177	159	657	4	164.25
CARRIVEAU, MADISON	181	153	-	189	172	695	4	173.75
CLEMONS, BRIANNA	-	-	156	190	187	533	3	177.67
BIALKE, KATIE	189	180	145	-	514	3	171.33	
KESLER, KAITLYN	183	186	179	222	214	984	5	196.80
JUNAK, KYLIE	-	-	-	-	-	-	-	0.00
ROEN, ISABELLA	-	-	148	154	160	462	3	154.00
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-
Total	937	850	772	932	892	4,383	25	876.6
Opponent Score	790	1,003	960	953	898	4,604		920.8
Opponent	CTC	BAC	MAR	MES	WSU			
W/L	W	L	L	L	L			1 - 4

Baker	Match 01	Match 02	Match 03	Match 04	Match 05	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
															177	158	155
154	137	181	205	195			Game 1	177	158	155							
164	195	165	176	204			Game 2	205	170	193							
186	201	158	205	169			Game 3	165	188	202							
204	177	204	161	225			Game 4	191	181	157							
159	164	182	185	170			Game 5	193	166	181							
-	-	-	-	-			Game 6	196	159	181							
-	-	-	-	-			Game 7	211	-	193							
-	-	-	-	-			Tie Breaker	-	-	-							
-	-	-	-	-				-	-	-							
867	874	890	932	963	4,526	Total		1,338	1,022	1,262							
1,111	855	854	867	1,098	4,785	Opponent Score		1,238	1,041	1,368							
JVL	AAM	QUI	CAR	UAB		Opponent		CAR	WIU	CAR							
L	W	W	W	L	3 - 2	W/L		4-3	2-4	3-4							

2026 MUSIC CITY CLASSIC

MARYLAND EASTERN SHORE, UNIV. OF	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
PITTS, ARA	177	173	176	196	204	926	5	185.20
FRIEND, AALIYAH	203	145	-	224	161	733	4	183.25
BECERRA DIAZ, GABRIELA	205	-	-	-	-	205	1	205.00
GORDON, JAYDA	203	203	225	175	202	1,008	5	201.60
ALMEIDA, MARIANE	-	164	225	180	233	802	4	200.50
SANTOS RIVERO, MARIANA	213	209	224	178	215	1,039	5	207.80
TOSTO, SOFIA	-	-	148	-	-	148	1	148.00
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	1,001	894	998	953	1,015	4,861	25	972.2
Opponent Score	1,027	943	918	932	1,093	4,913		982.6
Opponent	MAR	JSU	AUR	MAR	LTU			
W/L	L	L	W	W	L			2-3

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
														Match 01	Match 02	Match 03
193	160	171	172	246										182	179	192
160	201	164	160	151										190	144	142
232	182	189	200	180										170	200	199
183	185	217	170	158										178	170	192
160	200	190	170	201										232	-	193
-	-	-	-	-										175	-	214
-	-	-	-	-										-	-	-
Total	928	928	931	872	936	4,595	Total	1,314	842	1,289						
Opponent Score	1,033	1,041	976	857	980	4,887	Opponent Score	1,329	964	1,368						
Opponent	VAN	ARK	OCU	LEW	ASU		Opponent	BAC	JSU	UWW						
W/L	L	L	L	W	L	1-4	W/L	4.5-2.5	1-4	3-4						

MARVILLIE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
JOHNSON, CAITLYN	-	-	-	-	-	-	-	0.00
INGERSOLL, ALEXIS	-	-	-	-	212	212	1	212.00
MCCONAUGHY, AINSLEE	197	198	180	150	-	725	4	181.25
TEUBER, ELIZABETH	233	224	231	202	228	1,118	5	223.60
ADAMS, COURTNEY	-	-	-	-	-	-	-	0.00
MATHESON, SOPHIA	-	-	-	-	-	-	-	0.00
PABST, BROOKE	158	193	222	202	269	1,044	5	208.80
SWIATOCHA, SAVANNAH	183	211	166	174	213	947	5	189.40
BRUNNER, MORGAN	256	201	161	248	258	1,124	5	224.80
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	1,027	1,027	960	976	1,180	5,170	25	1034.0
Opponent Score	1,001	905	772	859	1,054	4,591		918.2
Opponent	MES	YSU	MAR	IND	SHSU			
W/L	W	W	W	W	W			5-0

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
														Match 01	Match 02	Match 03
190	197	192	196	169										202	209	206
181	214	182	217	201										172	182	235
245	186	131	182	220										221	182	216
164	211	186	172	245										167	246	191
173	189	192	179	213										-	171	212
-	-	-	-	-										-	-	189
-	-	-	-	-										-	-	-
Total	953	997	883	946	1,048	4,827	Total	998	1,149	1,508						
Opponent Score	979	931	872	894	1,006	4,682	Opponent Score	968	1,179	1,468						
Opponent	WRT	NEW	CTC	WIU	TUL		Opponent	UAB	LTU	WSU						
W/L	L	W	W	W	W	4-1	W/L	4-1	2-4	3-4						

MCKENDREE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
BROWN, CIERRA	208	180	191	188	176	943	5	188.60
OGLE, GRACE	215	184	150	-	-	549	3	183.00
SMITH, JAYCIE	187	180	151	165	195	878	5	175.60
KIMBALL, SHANNA	150	-	165	235	194	744	4	186.00
ZINN, EMMA	-	181	255	162	172	770	4	192.50
CASE, ADDYSEN	184	162	-	203	199	748	4	187.00
LEWIS, AVA	-	-	-	-	-	-	-	0.00
DIAZ, ENAIRYS	-	-	-	-	-	-	-	0.00
PORTA, VICTORIA	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	944	887	912	953	936	4,632	25	926.4
Opponent Score	880	1,007	1,025	962	814	4,688		937.6
Opponent	AAM	TUL	YSU	LTU	IND			
W/L	W	L	L	L	W			2-3

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
														Match 01	Match 02	Match 03
126	181	224	174	211										189	213	159
169	168	164	161	196										206	162	205
208	195	217	183	182										170	167	178
164	221	144	244	191										188	191	181
166	179	244	147	155										152	163	183
-	-	-	-	-										163	229	187
-	-	-	-	-										-	-	-
Total	833	944	993	909	935	4,614	Total	1,286	1,314	1,294						
Opponent Score	959	845	987	1,013	971	4,775	Opponent Score	1,327	1,325	1,292						
Opponent	SHSU	CTC	WRT	NEW	WIU		Opponent	UWW	FDU	BAC						
W/L	L	W	W	L	L	2-3	W/L	3-4	4-3	3-4						

NEWMAN UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
SCOTT, TALLIE	169	-	181	200	191	741	4	185.25
CRUMLEY, PAIGHTON	172	204	223	225	210	1,034	5	206.80
WAHLMEIER, KAYLIN	-	-	170	258	193	621	3	207.00
SOTO, ASHLEY	190	171	179	190	222	952	5	190.40
WALBAUM, DANIELLE	-	168	-	-	-	168	1	168.00
JACOBSON, CLAIRE	187	187	235	213	140	962	5	192.40
MILLER, KASSIDY	183	-	-	-	-	183	1	183.00
YOCKMAN, JANAE	-	150	-	-	-	150	1	150.00
GENTRY, ALLIE	-	-	-	-	-	-	-	0.00
CHOURA, OLYVIA	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	901	880	988	1,086	956	4,811	25	962.2
Opponent Score	873	835	895	1,024	768	4,395		879.0
Opponent	ASU	UWW	PVAM	NCAT	LIU			
W/L	W	W	W	W	W			5-0

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
														Match 01	Match 02	Match 03
159	213	164	237	201										169	193	235
184	154	203	200	193										211	183	164
237	181	225	220	191										214	202	235
139	211	236	190	181										201	182	-
167	172	231	166	159										174	202	-
-	-	-	-	-										188	-	-
-	-	-	-	-										-	-	-
Total	886	931	1,059	1,013	925	4,814	Total	1,332	1,157	802						
Opponent Score	8															

2026 MUSIC CITY CLASSIC

NIAGARA UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
ADAMS, MEGAN	-	-	-	-	-	-	-	0.00
SKIMMER, SYDNEY	210	204	210	172	151	947	5	189.40
ZULICK, SARAH	-	-	-	-	-	-	-	0.00
SMITH, JOCELYN	221	185	204	173	214	997	5	199.40
COLLINS, DAKOTA	178	-	-	-	-	178	1	178.00
GRANT, BRYNN	-	-	-	-	-	-	-	0.00
ACKERMAN, KATE	193	211	215	192	215	1,026	5	205.20
BROCK, EMILY	256	249	257	192	195	1,149	5	229.80
DERBY, ABBIE	-	181	196	152	195	724	4	181.00
YARNES, JILLIAN	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	1,058	1,030	1,082	881	970	5,021	25	1004.2
Opponent Score	1,049	831	823	1,006	987	4,696		939.2
Opponent	UAB	AUR	IND	SHSU	WRT			
W/L	W	W	W	L	L			3 - 2

Baker	Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04	Match 05												
202	196	161	164	171											207	166	212
243	267	206	246	197											181	189	166
153	175	161	126	213											188	177	190
195	211	209	179	196											176	237	178
202	216	224	237	208											184	194	170
-	-	-	-	-											189	-	194
-	-	-	-	-											174	-	-
-	-	-	-	-											-	-	-
995	1,065	961	952	985		4,958	Total	1,299	963	1,110							
948	842	1,059	971	922		4,742	Opponent Score	1,366	1,063	1,211							
CTC	WIU	NEW	TUL	YSU			Opponent	WSU	WRT	SHU							
W	W	L	L	W		3 - 2	W/L	3-4	1-4	2-4							

NORTH CAROLINA A&T STATE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
HALL, JASMINE	-	255	211	194	220	880	4	220.00
SAMS, JULIANA	-	235	209	198	211	853	4	213.25
HARTGROVE, PAYTON	171	209	236	209	253	1,078	5	215.60
GIRALDO, SARA	-	-	-	-	-	-	-	0.00
ESCAMILLA, ALEXA	170	-	-	-	-	170	1	170.00
BURGIN, SAVANNAH	175	-	-	-	-	175	1	175.00
WHITE, VICTORYA	185	190	192	200	204	971	5	194.20
GRAHAM, CHARISSE	174	185	212	223	204	998	5	199.60
CRUZ, TIANA	-	-	-	-	-	-	-	0.00
-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	875	1,074	1,060	1,024	1,092	5,125	25	1025.0
Opponent Score	1,055	918	846	1,086	949	4,854		970.8
Opponent	JVL	WRT	CTC	NEW	WIU			
W/L	L	W	W	L	W			3 - 2

Baker	Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04	Match 05												
216	224	223	174	226											203	198	203
225	199	159	214	196											211	187	158
192	188	194	198	226											201	212	211
197	182	140	268	218											237	213	243
198	224	226	164	247											191	-	169
-	-	-	-	-											-	-	-
-	-	-	-	-											-	-	-
1,028	1,017	942	1,018	1,113		5,118	Total	1,043	810	984							
942	910	1,024	859	1,065		4,800	Opponent Score	852	878	999							
TUL	LEW	YSU	IND	SHSU			Opponent	LTU	VAN	LTU							
W	W	L	W	W		4 - 1	W/L	4-1	0-4	1-4							

OKLAHOMA CHRISTIAN UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
JUSTICE, TORI	230	189	186	210	188	1,003	5	200.60
TEMPLE, KINZIE	-	-	-	-	-	-	-	0.00
VALDEZ, NICOLL	163	155	-	-	139	457	3	152.33
DAVIS, ZANDRIA	160	247	212	165	216	1,000	5	200.00
DAVIS, RHIANNON	171	171	181	148	189	860	5	172.00
GATTENBY, CARLEN	-	-	170	-	-	170	1	170.00
STOCKSTILL, KALEE	-	-	205	191	149	545	3	181.67
BURROW, JAYMIE	182	165	-	149	-	496	3	165.33
-	-	-	-	-	-	-	-	0.00
-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	906	927	954	863	881	4,531	25	906.2
Opponent Score	881	848	931	997	975	4,632		926.4
Opponent	WIU	AAM	CAR	UAB	BAC			
W/L	W	W	W	L	L			3 - 2

Baker	Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04	Match 05												
168	155	158	151	178											162	177	182
203	216	213	139	204											203	189	183
155	191	246	179	248											170	199	199
183	180	179	145	171											159	155	149
167	193	180	189	234											182	169	169
-	-	-	-	-											184	185	191
-	-	-	-	-											195	-	-
-	-	-	-	-											-	-	-
876	935	976	803	1,035		4,625	Total	1,255	1,074	1,073							
848	1,001	931	1,077	811		4,668	Opponent Score	1,362	1,037	1,120							
UWW	WSU	MES	JVL	QUI			Opponent	FDU	ASU	FDU							
W	L	W	L	W		3 - 2	W/L	3-4	4-2	2-4							

PRAIRIE VIEW A&M UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
ALEXANDER, SKYLAR	157	157	166	147	152	779	5	155.80
BROWN, NEVAEH	204	147	191	172	158	872	5	174.40
FUENTES, MIRANDA	171	143	152	182	182	830	5	166.00
LEWIS, CAROLINE	157	183	175	147	142	804	5	160.80
TOWNSEND, CHANDLER	152	164	211	188	146	861	5	172.20
-	-	-	-	-	-	-	-	0.00
-	-	-	-	-	-	-	-	0.00
-	-	-	-	-	-	-	-	0.00
-	-	-	-	-	-	-	-	0.00
-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	841	794	895	836	780	4,146	25	829.2
Opponent Score	886	749	988	819	883	4,325		865.0
Opponent	AUR	CTC	NEW	WIU	TUL			
W/L	L	W	L	W	L			2 - 3

Baker	Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04	Match 05												
168	153	183	206	165											172	204	139
171	156	146	192	189											189	206	170
134	170	177	148	141											167	166	176
156	147	118	188	160											153	161	217
199	150	129	165	161											154	180	195
-	-	-	-	-											181	-	173
-	-	-	-	-													

2026 MUSIC CITY CLASSIC

VANDERBILT UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
ABIGANIA, KATELYN	205	266	215	228	211	1,125	5	225.00
HENDERSON, DANNIELLE	222	177	238	181	206	1,024	5	204.80
VARANO, VICTORIA	167	-	-	-	-	167	1	167.00
LINDLEY, HALEY	212	186	224	196	196	1,014	5	202.80
KENT, NATALIE	-	-	-	-	216	216	1	216.00
BOHN, SYDNEY	-	224	200	206	253	883	4	220.75
BALLARD, ALYSSA	-	-	-	-	-	-	-	0.00
DOMAGUIN, AVERY	198	235	182	191	-	806	4	201.50
NOFUENTE, SAPHYRE	-	-	-	-	-	-	-	0.00
YEAGER, TAMIA	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	1,004	1,088	1,059	1,002	1,082	5,235	25	1047.0
Opponent Score	923	1,004	926	1,072	865	4,790		958.0
Opponent	SHSU	CAR	UAB	BAC	FDU			
W/L	W	W	W	L	W			4 - 1

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04												
199	237	205	253	168		147	209	220								
192	216	219	227	199		203	196	172								
211	191	180	236	203		236	214	186								
231	219	205	223	200		170	259	180								
200	191	248	199	202		190	-	206								
-	-	-	-	-		-	-	203								
-	-	-	-	-		-	-	234								
-	-	-	-	-		-	-	-								
-	-	-	-	-		-	-	-								
Total	1,033	1,054	1,057	1,138	972	5,254	946	878	1,401							
Opponent Score	928	1,140	1,006	863	879	4,816	1,059	810	1,476							
Opponent	MES	JVL	WSU	QUI	AAM		ARK	NCAT	ARK							
W/L	W	L	W	W	W	4 - 1	1-4	4-0	4-3							

WESTERN ILLINOIS UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
WILLIAMS, CASSIDY	176	172	210	175	165	898	5	179.60
ERESBEY, MELINA	207	171	181	175	168	902	5	180.40
HUBER, SKYLAR	-	-	-	127	-	127	1	127.00
STEINKE, ANGELA	192	203	120	-	224	739	4	184.75
HUNTING, JAYDYN	187	227	206	171	179	970	5	194.00
MORENO, MALEENA	119	199	176	171	213	878	5	175.60
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	881	972	893	819	949	4,514	25	902.8
Opponent Score	906	884	1,025	836	1,092	4,743		948.6
Opponent	OCU	FDU	UWW	PVAM	NCAT			
W/L	L	W	L	L	L	1 - 4		

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04												
151	158	156	164	167		190	170	171								
154	164	180	193	194		161	163	167								
168	181	181	218	222		163	199	216								
173	167	196	148	187		171	151	165								
161	172	203	171	201		-	179	179								
-	-	-	-	-		-	-	198								
-	-	-	-	-		-	-	-								
-	-	-	-	-		-	-	-								
Total	807	842	916	894	971	4,430	685	1,041	1,096							
Opponent Score	831	1,065	1,031	946	935	4,808	797	1,022	1,131							
Opponent	LIU	NIA	SHU	MAR	MCK		ASU	MAR	ASU							
W/L	L	L	L	L	W	1 - 4	0-4	4-2	2-4							

WICHITA STATE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
ANDERSON, BEAU	-	171	202	188	136	697	4	174.25
BOLLEA, KENDALL	141	-	-	-	-	141	1	141.00
DUQUE, SARA	163	245	217	239	194	1,058	5	211.60
KLING, MORGAN	182	173	163	-	-	518	3	172.67
ODEN, ALEESHA	-	-	-	-	-	-	-	0.00
PHILLIPS, MADI	-	185	278	198	205	866	4	216.50
WAGNER, PAIGE	216	-	-	216	173	605	3	201.67
WOODS, ASHTYN	178	184	203	246	190	1,001	5	200.20
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	880	958	1,063	1,087	898	4,886	25	977.2
Opponent Score	980	873	971	878	892	4,594		918.8
Opponent	SHU	ASU	JSU	AUR	MAR			
W/L	L	W	W	W	W	4 - 1		

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04												
197	190	206	192	190		160	233	246								
208	223	168	221	193		160	207	222								
186	204	208	189	236		201	239	182								
174	190	218	203	193		175	257	168								
171	194	206	210	179		234	-	205								
-	-	-	-	-		242	-	220								
-	-	-	-	-		194	-	225								
-	-	-	-	-		-	-	-								
Total	936	1,001	1,006	1,015	991	4,949	1,366	936	1,468							
Opponent Score	993	935	1,057	1,057	787	4,829	1,299	745	1,508							
Opponent	LTU	OCU	VAN	ARK	LEW		NIA	UAB	MAR							
W/L	L	W	L	L	W	2 - 3	4-3	4-0	4-3							

WISCONSIN-WHITEWATER, UNIV. OF	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05			
DARWIN, ZOEY	169	183	232	196	211	991	5	198.20
RUSK, EMILY	158	158	187	178	157	838	5	167.60
BOWE, ASHLEY	158	171	230	193	191	943	5	188.60
NORWELL, JORDYN	190	163	179	203	211	946	5	189.20
KNOWLES, JACQUELINE	-	-	-	-	-	-	-	0.00
KUMMEROW, KENNEDY	-	-	-	-	-	-	-	0.00
SCANLON, CAILEY	-	-	-	-	-	-	-	0.00
VANDERHEI, ELIZABETH	163	160	197	193	208	921	5	184.20
*	-	-	-	-	-	-	-	0.00
*	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	838	835	1,025	963	978	4,639	25	927.8
Opponent Score	850	880	893	918	998	4,539		907.8
Opponent	CAR	NEW	WIU	TUL	YSU			
W/L	L	L	W	W	L	2 - 3		

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2	xRND 3
	Match 01	Match 02	Match 03	Match 04												
147	200	203	201	176		180	211	177								
185	192	159	172	180		162	190	213								
171	213	198	181	178		200	185	192								
134	188	178	204	221		179	203	192								
211	198	220	224	168		202	225	172								
-	-	-	-	-		236	-	175								
-	-	-	-	-		168	-	247								

2026 MUSIC CITY CLASSIC

WRIGHT STATE UNIVERSITY	<i>Trad</i>	<i>Trad</i>	<i>Trad</i>	<i>Trad</i>	<i>Trad</i>	<i>Series</i>	<i>Games</i>	<i>Average</i>
	<i>Match 01</i>	<i>Match 02</i>	<i>Match 03</i>	<i>Match 04</i>	<i>Match 05</i>			
FISHER, KYLIE	181	146	-	-	-	327	2	163.50
HATFIELD, EMMA	-	-	-	-	-	-	-	0.00
HOFF, KAYLIE	-	-	-	-	-	-	-	0.00
JEANNERET, RYLIE	-	197	210	210	181	798	4	199.50
MESHEW, ADDY	159	-	-	-	-	159	1	159.00
SAYLES, DOTTIE	-	-	187	202	170	559	3	186.33
SAYLES, MIA	210	171	180	199	190	950	5	190.00
SCHULZE, JASMINE	197	201	236	231	235	1,100	5	220.00
SHATTUCK, ALLI	174	203	202	179	211	969	5	193.80
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	921	918	1,015	1,021	987	4,862	25	972.4
Opponent Score	1,020	1,074	759	1,009	970	4,832		966.4
Opponent	ARK	NCAT	LIU	SHU	NIA			
W/L	L	L	W	W	W			3 - 2

Baker	<i>Baker</i>	<i>Baker</i>	<i>Baker</i>	<i>Baker</i>	<i>Baker</i>	<i>Total Baker</i>		<i>xRND 1</i>	<i>xRND 2</i>	<i>xRND 3</i>
	<i>Match 01</i>	<i>Match 02</i>	<i>Match 03</i>	<i>Match 04</i>	<i>Match 05</i>					
189	202	179	168	154			Game 1	231	247	194
203	192	161	182	236			Game 2	191	192	214
227	210	199	212	179			Game 3	236	205	224
213	219	238	244	197			Game 4	192	215	221
147	160	210	204	189			Game 5	225	204	219
-	-	-	-	-			Game 6	-	-	202
-	-	-	-	-			Game 7	-	-	-
-	-	-	-	-			Tie Breaker	-	-	-
Total	979	983	987	1,010	955	4,914	Total	1,075	1,063	1,274
Opponent Score	953	929	993	982	816	4,673	Opponent Score	985	963	1,265
Opponent	MAR	FDU	MCK	UWW	PVAM		Opponent	SHU	NIA	UAB
W/L	W	W	L	W	W	4 - 1	W/L	4-1	4-1	2-4

YOUNGSTOWN STATE UNIVERSITY	<i>Trad</i>	<i>Trad</i>	<i>Trad</i>	<i>Trad</i>	<i>Trad</i>	<i>Series</i>	<i>Games</i>	<i>Average</i>
	<i>Match 01</i>	<i>Match 02</i>	<i>Match 03</i>	<i>Match 04</i>	<i>Match 05</i>			
MASON, AMBER	192	201	181	210	200	984	5	196.80
BASKIN, ALIVIA	172	204	241	183	246	1,046	5	209.20
CHRZANOWSKI, AMY	173	172	205	214	189	953	5	190.60
SPICER, AMBER	-	-	-	-	-	-	-	0.00
GREENAWAY, KAITLYN	-	-	-	-	-	-	-	0.00
KRATZER, LEYNA	-	-	-	-	-	-	-	0.00
BEISSEL, KARA	211	169	216	183	193	972	5	194.40
VARANO, GIANNA	211	159	182	196	170	918	5	183.60
TIEBREAKER	-	-	-	-	-	-	-	0.00
Total	959	905	1,025	986	998	4,873	25	974.6
Opponent Score	966	1,027	912	871	978	4,754		950.8
Opponent	JSU	MAR	MCK	FDU	UWW			
W/L	L	L	W	W	W			3 - 2

Baker	<i>Baker</i>	<i>Baker</i>	<i>Baker</i>	<i>Baker</i>	<i>Baker</i>	<i>Total Baker</i>		<i>xRND 1</i>	<i>xRND 2</i>	<i>xRND 3</i>
	<i>Match 01</i>	<i>Match 02</i>	<i>Match 03</i>	<i>Match 04</i>	<i>Match 05</i>					
170	151	202	194	127			Game 1	207	186	177
227	168	204	200	211			Game 2	174	189	242
195	237	220	247	167			Game 3	221	226	193
173	218	207	167	201			Game 4	171	216	172
169	171	191	198	216			Game 5	227	183	231
-	-	-	-	-			Game 6	159	205	201
-	-	-	-	-			Game 7	196	-	-
-	-	-	-	-			Tie Breaker	-	-	-
Total	934	945	1,024	1,006	922	4,831	Total	1,355	1,205	1,216
Opponent Score	828	806	942	1,036	985	4,597	Opponent Score	1,306	1,157	1,122
Opponent	PVAM	LIU	NCAT	SHU	NIA		Opponent	TUL	NEW	TUL
W/L	W	W	W	L	L	3 - 2	W/L	3-4	4-2	4-2

2026 MUSIC CITY CLASSIC : W-L OPPONENT RECAP

EVENT	(All)
FORMAT	(All)

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
ALABAMA A&M UNIVERSITY	Baker Match 01	JACKSON STATE UNIVERSITY	0	1	861	1,011	0	0	5	172.2
	Baker Match 02	MARIAN UNIVERSITY (WI)	0	1	855	874	0	0	5	171.0
	Baker Match 03	AURORA UNIVERSITY	1	0	839	828	0	0	5	167.8
	Baker Match 04	LOUISIANA TECH UNIVERSITY	0	1	908	1,064	0	0	5	181.6
	Baker Match 05	VANDERBILT UNIVERSITY	0	1	879	972	0	0	5	175.8
	Trad Match 01	MCKENDREE UNIVERSITY	0	1	880	944	0	0	5	176.0
	Trad Match 02	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	848	927	0	0	5	169.6
	Trad Match 03	ARKANSAS STATE UNIVERSITY	0	1	717	973	0	0	5	143.4
	Trad Match 04	LEWIS UNIVERSITY	1	0	901	874	0	0	5	180.2
	Trad Match 05	ALABAMA STATE UNIVERSITY	1	0	920	871	0	0	5	184.0
	xRND 1	LEWIS UNIVERSITY	1	0	1,073	1,140			7	153.3
	xRND 2	CARROLL UNIVERSITY	0	1	601	740			4	150.3
	xRND 3	LEWIS UNIVERSITY	0	1	815	893			5	163.0
ALABAMA A&M UNIVERSITY Total			4	9	11,097	12,111	0	0	66	168.1
ALABAMA AT BIRMINGHAM, UNIV. OF	Baker Match 01	LEWIS UNIVERSITY	1	0	1,037	791	0	0	5	207.4
	Baker Match 02	JACKSON STATE UNIVERSITY	1	0	1,030	885	0	0	5	206.0
	Baker Match 03	ALABAMA STATE UNIVERSITY	1	0	1,076	882	0	0	5	215.2
	Baker Match 04	AURORA UNIVERSITY	1	0	937	813	0	0	5	187.4
	Baker Match 05	MARIAN UNIVERSITY (WI)	1	0	1,098	963	0	0	5	219.6
	Trad Match 01	NIAGARA UNIVERSITY	0	1	1,049	1,058	0	0	5	209.8
	Trad Match 02	LOUISIANA TECH UNIVERSITY	0	1	947	1,018	0	0	5	189.4
	Trad Match 03	VANDERBILT UNIVERSITY	0	1	926	1,059	0	0	5	185.2
	Trad Match 04	OKLAHOMA CHRISTIAN UNIVERSITY	1	0	997	863	0	0	5	199.4
	Trad Match 05	ARKANSAS STATE UNIVERSITY	0	1	962	1,130	0	0	5	192.4
	xRND 1	MARYVILLE UNIVERSITY	0	1	968	998			5	193.6
	xRND 2	WICHITA STATE UNIVERSITY	0	1	745	936			4	186.3
	xRND 3	WRIGHT STATE UNIVERSITY	1	0	1,265	1,274			6	210.8
ALABAMA AT BIRMINGHAM, UNIV. OF Total			7	6	13,037	12,670	0	0	65	200.6
ALABAMA STATE UNIVERSITY	Baker Match 01	CARROLL UNIVERSITY	0	1	902	937	0	0	5	180.4
	Baker Match 02	BELMONT ABBEY COLLEGE	0	1	847	932	0	0	5	169.4
	Baker Match 03	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	882	1,076	0	0	5	176.4
	Baker Match 04	LONG ISLAND UNIVERSITY	1	0	1,051	856	0	0	5	210.2
	Baker Match 05	MARYLAND EASTERN SHORE, UNIV. OF	1	0	980	936	0	0	5	196.0
	Trad Match 01	NEWMAN UNIVERSITY	0	1	873	901	0	0	5	174.6
	Trad Match 02	WICHITA STATE UNIVERSITY	0	1	873	958	0	0	5	174.6
	Trad Match 03	JACKSONVILLE STATE UNIVERSITY	0	1	771	931	0	0	5	154.2
	Trad Match 04	QUINCY UNIVERSITY	0	1	867	885	0	0	5	173.4
	Trad Match 05	ALABAMA A&M UNIVERSITY	0	1	871	920	0	0	5	174.2
	xRND 1	WESTERN ILLINOIS UNIVERSITY	1	0	797	685			4	199.3
	xRND 2	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	1,037	1,074			6	172.8
	xRND 3	WESTERN ILLINOIS UNIVERSITY	1	0	1,131	1,096			6	188.5
ALABAMA STATE UNIVERSITY Total			4	9	11,882	12,187	0	0	66	180.0
ARKANSAS STATE UNIVERSITY	Baker Match 01	BELMONT ABBEY COLLEGE	1	0	1,018	948	0	0	5	203.6

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
ARKANSAS STATE UNIVERSITY	Baker Match 02	MARYLAND EASTERN SHORE, UNIV. OF	1	0	1,041	928	0	0	5	208.2
	Baker Match 03	PRAIRIE VIEW A&M UNIVERSITY	1	0	1,074	753	0	0	5	214.8
	Baker Match 04	WICHITA STATE UNIVERSITY	1	0	1,057	1,015	0	0	5	211.4
	Baker Match 05	JACKSONVILLE STATE UNIVERSITY	0	1	964	1,096	0	0	5	192.8
	Trad Match 01	WRIGHT STATE UNIVERSITY	1	0	1,020	921	0	0	5	204.0
	Trad Match 02	QUINCY UNIVERSITY	1	0	1,046	926	0	0	5	209.2
	Trad Match 03	ALABAMA A&M UNIVERSITY	1	0	973	717	0	0	5	194.6
	Trad Match 04	CARROLL UNIVERSITY	1	0	1,047	706	0	0	5	209.4
	Trad Match 05	ALABAMA AT BIRMINGHAM, UNIV. OF	1	0	1,130	962	0	0	5	226.0
	xRND 1	VANDERBILT UNIVERSITY	1	0	1,059	946			5	211.8
	xRND 2	SAM HOUSTON STATE UNIVERSITY	0	1	1,457	1,478			7	208.1
	xRND 3	VANDERBILT UNIVERSITY	0	1	1,476	1,401			7	210.9
	ARKANSAS STATE UNIVERSITY Total			10	3	14,362	12,797	0	0	69
AURORA UNIVERSITY	Baker Match 01	QUINCY UNIVERSITY	0	1	763	857	0	0	5	152.6
	Baker Match 02	CARROLL UNIVERSITY	0	1	771	863	0	0	5	154.2
	Baker Match 03	ALABAMA A&M UNIVERSITY	0	1	828	839	0	0	5	165.6
	Baker Match 04	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	813	937	0	0	5	162.6
	Baker Match 05	BELMONT ABBEY COLLEGE	0	1	796	806	0	0	5	159.2
	Trad Match 01	PRAIRIE VIEW A&M UNIVERSITY	1	0	886	841	0	0	5	177.2
	Trad Match 02	NIAGARA UNIVERSITY	0	1	831	1,030	0	0	5	166.2
	Trad Match 03	MARYLAND EASTERN SHORE, UNIV. OF	0	1	918	998	0	0	5	183.6
	Trad Match 04	WICHITA STATE UNIVERSITY	0	1	878	1,087	0	0	5	175.6
	Trad Match 05	JACKSONVILLE STATE UNIVERSITY	0	1	905	1,079	0	0	5	181.0
	xRND 1	CARTHAGE COLLEGE	0	1	992	1,107			6	165.3
	xRND 2	PRAIRIE VIEW A&M UNIVERSITY	1	0	1,004	917			5	200.8
	xRND 3	INDIANAPOLIS, UNIV. OF	0	1	1,184	1,210			7	169.1
AURORA UNIVERSITY Total			2	11	11,569	12,571	0	0	68	170.1
BELMONT ABBEY COLLEGE	Baker Match 01	ARKANSAS STATE UNIVERSITY	0	1	948	1,018	0	0	5	189.6
	Baker Match 02	ALABAMA STATE UNIVERSITY	1	0	932	847	0	0	5	186.4
	Baker Match 03	LEWIS UNIVERSITY	1	0	982	837	0	0	5	196.4
	Baker Match 04	JACKSON STATE UNIVERSITY	0	1	859	939	0	0	5	171.8
	Baker Match 05	AURORA UNIVERSITY	1	0	806	796	0	0	5	161.2
	Trad Match 01	FAIRLEIGH DICKINSON UNIVERSITY	1	0	928	868	0	0	5	185.6
	Trad Match 02	MARIAN UNIVERSITY (WI)	1	0	1,003	850	0	0	5	200.6
	Trad Match 03	LOUISIANA TECH UNIVERSITY	0	1	885	1,072	0	0	5	177.0
	Trad Match 04	VANDERBILT UNIVERSITY	1	0	1,072	1,002	0	0	5	214.4
	Trad Match 05	OKLAHOMA CHRISTIAN UNIVERSITY	1	0	975	881	0	0	5	195.0
	xRND 1	MARYLAND EASTERN SHORE, UNIV. OF	0	1	1,329	1,314			7	189.9
	xRND 2	WISCONSIN-WHITEWATER, UNIV. OF	0	1	983	1,014			5	196.6
	xRND 3	MCKENDREE UNIVERSITY	1	0	1,292	1,294			7	184.6
BELMONT ABBEY COLLEGE Total			8	5	12,994	12,732	0	0	69	188.3
CARROLL UNIVERSITY	Baker Match 01	ALABAMA STATE UNIVERSITY	1	0	937	902	0	0	5	187.4
	Baker Match 02	AURORA UNIVERSITY	1	0	863	771	0	0	5	172.6
	Baker Match 03	JACKSON STATE UNIVERSITY	0	1	876	990	0	0	5	175.2
	Baker Match 04	MARIAN UNIVERSITY (WI)	0	1	867	932	0	0	5	173.4
	Baker Match 05	LOUISIANA TECH UNIVERSITY	0	1	835	874	0	0	5	167.0
	Trad Match 01	WISCONSIN-WHITEWATER, UNIV. OF	1	0	850	838	0	0	5	170.0
	Trad Match 02	VANDERBILT UNIVERSITY	0	1	1,004	1,088	0	0	5	200.8
Trad Match 03	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	931	954	0	0	5	186.2	

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
CARROLL UNIVERSITY	Trad Match 04	ARKANSAS STATE UNIVERSITY	0	1	706	1,047	0	0	5	141.2
	Trad Match 05	LEWIS UNIVERSITY	0	1	865	1,002	0	0	5	173.0
	xRND 1	MARIAN UNIVERSITY (WI)	0	1	1,238	1,338			7	176.9
	xRND 2	ALABAMA A&M UNIVERSITY	1	0	740	601			4	185.0
	xRND 3	MARIAN UNIVERSITY (WI)	1	0	1,368	1,262			7	195.4
CARROLL UNIVERSITY Total			5	8	12,080	12,599	0	0	68	177.6
CARTHAGE COLLEGE	Baker Match 01	NIAGARA UNIVERSITY	0	1	948	995	0	0	5	189.6
	Baker Match 02	MCKENDREE UNIVERSITY	0	1	845	944	0	0	5	169.0
	Baker Match 03	MARYVILLE UNIVERSITY	0	1	872	883	0	0	5	174.4
	Baker Match 04	FAIRLEIGH DICKINSON UNIVERSITY	0	1	904	966	0	0	5	180.8
	Baker Match 05	WISCONSIN-WHITEWATER, UNIV. OF	0	1	824	923	0	0	5	164.8
	Trad Match 01	MARIAN UNIVERSITY (WI)	0	1	790	937	0	0	5	158.0
	Trad Match 02	PRAIRIE VIEW A&M UNIVERSITY	0	1	749	794	0	0	5	149.8
	Trad Match 03	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	846	1,060	0	0	5	169.2
	Trad Match 04	LONG ISLAND UNIVERSITY	1	0	886	736	0	0	5	177.2
	Trad Match 05	SACRED HEART UNIVERSITY	0	1	827	859	0	0	5	165.4
	xRND 1	AURORA UNIVERSITY	1	0	1,107	992			6	184.5
	xRND 2	INDIANAPOLIS, UNIV. OF	1	0	991	982			6	165.2
	xRND 3	QUINCY UNIVERSITY	1	0	1,042	1,025			6	173.7
	CARTHAGE COLLEGE Total			4	9	11,631	12,096	0	0	68
FAIRLEIGH DICKINSON UNIVERSITY	Baker Match 01	INDIANAPOLIS, UNIV. OF	1	0	951	860	0	0	5	190.2
	Baker Match 02	WRIGHT STATE UNIVERSITY	0	1	929	983	0	0	5	185.8
	Baker Match 03	SAM HOUSTON STATE UNIVERSITY	0	1	948	1,106	0	0	5	189.6
	Baker Match 04	CARTHAGE COLLEGE	1	0	966	904	0	0	5	193.2
	Baker Match 05	NEWMAN UNIVERSITY	0	1	920	925	0	0	5	184.0
	Trad Match 01	BELMONT ABBEY COLLEGE	0	1	868	928	0	0	5	173.6
	Trad Match 02	WESTERN ILLINOIS UNIVERSITY	0	1	884	972	0	0	5	176.8
	Trad Match 03	TULANE UNIVERSITY	0	1	859	903	0	0	5	171.8
	Trad Match 04	YOUNGSTOWN STATE UNIVERSITY	0	1	871	986	0	0	5	174.2
	Trad Match 05	VANDERBILT UNIVERSITY	0	1	865	1,082	0	0	5	173.0
	xRND 1	OKLAHOMA CHRISTIAN UNIVERSITY	1	0	1,362	1,255			7	194.6
	xRND 2	MCKENDREE UNIVERSITY	0	1	1,325	1,314			7	189.3
	xRND 3	OKLAHOMA CHRISTIAN UNIVERSITY	1	0	1,120	1,073			6	186.7
	FAIRLEIGH DICKINSON UNIVERSITY Total			4	9	12,868	13,291	0	0	70
INDIANAPOLIS, UNIV. OF	Baker Match 01	FAIRLEIGH DICKINSON UNIVERSITY	0	1	860	951	0	0	5	172.0
	Baker Match 02	PRAIRIE VIEW A&M UNIVERSITY	1	0	913	776	0	0	5	182.6
	Baker Match 03	WISCONSIN-WHITEWATER, UNIV. OF	0	1	867	958	0	0	5	173.4
	Baker Match 04	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	859	1,018	0	0	5	171.8
	Baker Match 05	LONG ISLAND UNIVERSITY	1	0	879	806	0	0	5	175.8
	Trad Match 01	LEWIS UNIVERSITY	0	1	798	826	0	0	5	159.6
	Trad Match 02	SACRED HEART UNIVERSITY	0	1	849	1,072	0	0	5	169.8
	Trad Match 03	NIAGARA UNIVERSITY	0	1	823	1,082	0	0	5	164.6
	Trad Match 04	MARYVILLE UNIVERSITY	0	1	859	976	0	0	5	171.8
	Trad Match 05	MCKENDREE UNIVERSITY	0	1	814	936	0	0	5	162.8
	xRND 1	QUINCY UNIVERSITY	0	1	783	843			5	156.6
	xRND 2	CARTHAGE COLLEGE	0	1	982	991			6	163.7
	xRND 3	AURORA UNIVERSITY	1	0	1,210	1,184			7	172.9
	INDIANAPOLIS, UNIV. OF Total			3	10	11,496	12,419	0	0	68
JACKSON STATE UNIVERSITY	Baker Match 01	ALABAMA A&M UNIVERSITY	1	0	1,011	861	0	0	5	202.2

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
JACKSON STATE UNIVERSITY	Baker Match 02	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	885	1,030	0	0	5	177.0
	Baker Match 03	CARROLL UNIVERSITY	1	0	990	876	0	0	5	198.0
	Baker Match 04	BELMONT ABBEY COLLEGE	1	0	939	859	0	0	5	187.8
	Baker Match 05	SACRED HEART UNIVERSITY	0	1	1,028	1,090	0	0	5	205.6
	Trad Match 01	YOUNGSTOWN STATE UNIVERSITY	1	0	966	959	0	0	5	193.2
	Trad Match 02	MARYLAND EASTERN SHORE, UNIV. OF	1	0	943	894	0	0	5	188.6
	Trad Match 03	WICHITA STATE UNIVERSITY	0	1	971	1,063	0	0	5	194.2
	Trad Match 04	JACKSONVILLE STATE UNIVERSITY	0	1	885	978	0	0	5	177.0
	Trad Match 05	QUINCY UNIVERSITY	1	0	910	858	0	0	5	182.0
	xRND 1	NEWMAN UNIVERSITY	0	1	1,206	1,332			7	172.3
	xRND 2	MARYLAND EASTERN SHORE, UNIV. OF	1	0	964	842			5	192.8
	xRND 3	NEWMAN UNIVERSITY	0	1	704	802			4	176.0
	JACKSON STATE UNIVERSITY Total			7	6	12,402	12,444	0	0	66
JACKSONVILLE STATE UNIVERSITY	Baker Match 01	MARIAN UNIVERSITY (WI)	1	0	1,111	867	0	0	5	222.2
	Baker Match 02	VANDERBILT UNIVERSITY	1	0	1,140	1,054	0	0	5	228.0
	Baker Match 03	LOUISIANA TECH UNIVERSITY	1	0	1,141	993	0	0	5	228.2
	Baker Match 04	OKLAHOMA CHRISTIAN UNIVERSITY	1	0	1,077	803	0	0	5	215.4
	Baker Match 05	ARKANSAS STATE UNIVERSITY	1	0	1,096	964	0	0	5	219.2
	Trad Match 01	NORTH CAROLINA A&T STATE UNIVERSITY	1	0	1,055	875	0	0	5	211.0
	Trad Match 02	LEWIS UNIVERSITY	1	0	1,094	852	0	0	5	218.8
	Trad Match 03	ALABAMA STATE UNIVERSITY	1	0	931	771	0	0	5	186.2
	Trad Match 04	JACKSON STATE UNIVERSITY	1	0	978	885	0	0	5	195.6
	Trad Match 05	AURORA UNIVERSITY	1	0	1,079	905	0	0	5	215.8
	xRND 1	SAM HOUSTON STATE UNIVERSITY	1	0	1,342	1,224			6	223.7
	xRND 2	LONG ISLAND UNIVERSITY	1	0	838	671			4	209.5
	xRND 3	SAM HOUSTON STATE UNIVERSITY	1	0	830	759			4	207.5
JACKSONVILLE STATE UNIVERSITY Total			13	0	13,712	11,623	0	0	64	214.3
LEWIS UNIVERSITY	Baker Match 01	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	791	1,037	0	0	5	158.2
	Baker Match 02	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	910	1,017	0	0	5	182.0
	Baker Match 03	BELMONT ABBEY COLLEGE	0	1	837	982	0	0	5	167.4
	Baker Match 04	MARYLAND EASTERN SHORE, UNIV. OF	0	1	857	872	0	0	5	171.4
	Baker Match 05	WICHITA STATE UNIVERSITY	0	1	787	991	0	0	5	157.4
	Trad Match 01	INDIANAPOLIS, UNIV. OF	1	0	826	798	0	0	5	165.2
	Trad Match 02	JACKSONVILLE STATE UNIVERSITY	0	1	852	1,094	0	0	5	170.4
	Trad Match 03	QUINCY UNIVERSITY	1	0	966	857	0	0	5	193.2
	Trad Match 04	ALABAMA A&M UNIVERSITY	0	1	874	901	0	0	5	174.8
	Trad Match 05	CARROLL UNIVERSITY	1	0	1,002	865	0	0	5	200.4
	xRND 1	ALABAMA A&M UNIVERSITY	0	1	1,140	1,073			7	162.9
	xRND 2	QUINCY UNIVERSITY	1	0	1,114	1,145			6	185.7
	xRND 3	ALABAMA A&M UNIVERSITY	1	0	893	815			5	178.6
LEWIS UNIVERSITY Total			5	8	11,849	12,447	0	0	68	174.3
LONG ISLAND UNIVERSITY	Baker Match 01	WESTERN ILLINOIS UNIVERSITY	1	0	831	807	0	0	5	166.2
	Baker Match 02	YOUNGSTOWN STATE UNIVERSITY	0	1	806	945	0	0	5	161.2
	Baker Match 03	TULANE UNIVERSITY	0	1	872	1,005	0	0	5	174.4
	Baker Match 04	ALABAMA STATE UNIVERSITY	0	1	856	1,051	0	0	5	171.2
	Baker Match 05	INDIANAPOLIS, UNIV. OF	0	1	806	879	0	0	5	161.2
	Trad Match 01	QUINCY UNIVERSITY	0	1	684	802	0	0	5	136.8
	Trad Match 02	SAM HOUSTON STATE UNIVERSITY	0	1	827	1,165	0	0	5	165.4
Trad Match 03	WRIGHT STATE UNIVERSITY	0	1	759	1,015	0	0	5	151.8	

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
LONG ISLAND UNIVERSITY	Trad Match 04	CARTHAGE COLLEGE	0	1	736	886	0	0	5	147.2
	Trad Match 05	NEWMAN UNIVERSITY	0	1	768	956	0	0	5	153.6
	xRND 1	PRAIRIE VIEW A&M UNIVERSITY	0	1	952	1,016			6	158.7
	xRND 2		0	0	0	0			0	#DIV/0!
	xRND 3	JACKSONVILLE STATE UNIVERSITY PRAIRIE VIEW A&M UNIVERSITY	0 0	1 1	671 954	838 1,070			4 6	167.8 159.0
LONG ISLAND UNIVERSITY Total			1	12	10,522	12,435	0	0	66	159.4
LOUISIANA TECH UNIVERSITY	Baker Match 01	WICHITA STATE UNIVERSITY	1	0	993	936	0	0	5	198.6
	Baker Match 02	QUINCY UNIVERSITY	1	0	1,053	818	0	0	5	210.6
	Baker Match 03	JACKSONVILLE STATE UNIVERSITY	0	1	993	1,141	0	0	5	198.6
	Baker Match 04	ALABAMA A&M UNIVERSITY	1	0	1,064	908	0	0	5	212.8
	Baker Match 05	CARROLL UNIVERSITY	1	0	874	835	0	0	5	174.8
	Trad Match 01	TULANE UNIVERSITY	0	1	951	1,045	0	0	5	190.2
	Trad Match 02	ALABAMA AT BIRMINGHAM, UNIV. OF	1	0	1,018	947	0	0	5	203.6
	Trad Match 03	BELMONT ABBEY COLLEGE	1	0	1,072	885	0	0	5	214.4
	Trad Match 04	MCKENDREE UNIVERSITY	1	0	962	953	0	0	5	192.4
	Trad Match 05	MARYLAND EASTERN SHORE, UNIV. OF	1	0	1,093	1,015	0	0	5	218.6
	xRND 1	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	852	1,043			5	170.4
	xRND 2	MARYVILLE UNIVERSITY	1	0	1,179	1,149			6	196.5
	xRND 3	NORTH CAROLINA A&T STATE UNIVERSITY	1	0	999	984			5	199.8
	LOUISIANA TECH UNIVERSITY Total			10	3	13,103	12,659	0	0	66
MARIAN UNIVERSITY (WI)	Baker Match 01	JACKSONVILLE STATE UNIVERSITY	0	1	867	1,111	0	0	5	173.4
	Baker Match 02	ALABAMA A&M UNIVERSITY	1	0	874	855	0	0	5	174.8
	Baker Match 03	QUINCY UNIVERSITY	1	0	890	854	0	0	5	178.0
	Baker Match 04	CARROLL UNIVERSITY	1	0	932	867	0	0	5	186.4
	Baker Match 05	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	963	1,098	0	0	5	192.6
	Trad Match 01	CARTHAGE COLLEGE	1	0	937	790	0	0	5	187.4
	Trad Match 02	BELMONT ABBEY COLLEGE	0	1	850	1,003	0	0	5	170.0
	Trad Match 03	MARYVILLE UNIVERSITY	0	1	772	960	0	0	5	154.4
	Trad Match 04	MARYLAND EASTERN SHORE, UNIV. OF	0	1	932	953	0	0	5	186.4
	Trad Match 05	WICHITA STATE UNIVERSITY	0	1	892	898	0	0	5	178.4
	xRND 1	CARROLL UNIVERSITY	1	0	1,338	1,238			7	191.1
	xRND 2	WESTERN ILLINOIS UNIVERSITY	0	1	1,022	1,041			6	170.3
	xRND 3	CARROLL UNIVERSITY	0	1	1,262	1,368			7	180.3
	MARIAN UNIVERSITY (WI) Total			5	8	12,531	13,036	0	0	70
MARYLAND EASTERN SHORE, UNIV. OF	Baker Match 01	VANDERBILT UNIVERSITY	0	1	928	1,033	0	0	5	185.6
	Baker Match 02	ARKANSAS STATE UNIVERSITY	0	1	928	1,041	0	0	5	185.6
	Baker Match 03	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	931	976	0	0	5	186.2
	Baker Match 04	LEWIS UNIVERSITY	1	0	872	857	0	0	5	174.4
	Baker Match 05	ALABAMA STATE UNIVERSITY	0	1	936	980	0	0	5	187.2
	Trad Match 01	MARYVILLE UNIVERSITY	0	1	1,001	1,027	0	0	5	200.2
	Trad Match 02	JACKSON STATE UNIVERSITY	0	1	894	943	0	0	5	178.8
	Trad Match 03	AURORA UNIVERSITY	1	0	998	918	0	0	5	199.6
	Trad Match 04	MARIAN UNIVERSITY (WI)	1	0	953	932	0	0	5	190.6
	Trad Match 05	LOUISIANA TECH UNIVERSITY	0	1	1,015	1,093	0	0	5	203.0
	xRND 1	BELMONT ABBEY COLLEGE	1	0	1,314	1,329			7	187.7
	xRND 2	JACKSON STATE UNIVERSITY	0	1	842	964			5	168.4
	xRND 3	WISCONSIN-WHITEWATER, UNIV. OF	0	1	1,289	1,368			7	184.1
	MARYLAND EASTERN SHORE, UNIV. OF Total			4	9	12,901	13,461	0	0	69

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
MARYVILLE UNIVERSITY	Baker Match 01	WRIGHT STATE UNIVERSITY	0	1	953	979	0	0	5	190.6
	Baker Match 02	NEWMAN UNIVERSITY	1	0	997	931	0	0	5	199.4
	Baker Match 03	CARTHAGE COLLEGE	1	0	883	872	0	0	5	176.6
	Baker Match 04	WESTERN ILLINOIS UNIVERSITY	1	0	946	894	0	0	5	189.2
	Baker Match 05	TULANE UNIVERSITY	1	0	1,048	1,006	0	0	5	209.6
	Trad Match 01	MARYLAND EASTERN SHORE, UNIV. OF	1	0	1,027	1,001	0	0	5	205.4
	Trad Match 02	YOUNGSTOWN STATE UNIVERSITY	1	0	1,027	905	0	0	5	205.4
	Trad Match 03	MARIAN UNIVERSITY (WI)	1	0	960	772	0	0	5	192.0
	Trad Match 04	INDIANAPOLIS, UNIV. OF	1	0	976	859	0	0	5	195.2
	Trad Match 05	SAM HOUSTON STATE UNIVERSITY	1	0	1,180	1,054	0	0	5	236.0
	xRND 1	ALABAMA AT BIRMINGHAM, UNIV. OF	1	0	998	968			5	199.6
	xRND 2	LOUISIANA TECH UNIVERSITY	0	1	1,149	1,179			6	191.5
	xRND 3	WICHITA STATE UNIVERSITY	0	1	1,508	1,468			7	215.4
MARYVILLE UNIVERSITY Total			10	3	13,652	12,888	0	0	68	200.8
MCKENDREE UNIVERSITY	Baker Match 01	SAM HOUSTON STATE UNIVERSITY	0	1	833	959	0	0	5	166.6
	Baker Match 02	CARTHAGE COLLEGE	1	0	944	845	0	0	5	188.8
	Baker Match 03	WRIGHT STATE UNIVERSITY	1	0	993	987	0	0	5	198.6
	Baker Match 04	NEWMAN UNIVERSITY	0	1	909	1,013	0	0	5	181.8
	Baker Match 05	WESTERN ILLINOIS UNIVERSITY	0	1	935	971	0	0	5	187.0
	Trad Match 01	ALABAMA A&M UNIVERSITY	1	0	944	880	0	0	5	188.8
	Trad Match 02	TULANE UNIVERSITY	0	1	887	1,007	0	0	5	177.4
	Trad Match 03	YOUNGSTOWN STATE UNIVERSITY	0	1	912	1,025	0	0	5	182.4
	Trad Match 04	LOUISIANA TECH UNIVERSITY	0	1	953	962	0	0	5	190.6
	Trad Match 05	INDIANAPOLIS, UNIV. OF	1	0	936	814	0	0	5	187.2
	xRND 1	WISCONSIN-WHITEWATER, UNIV. OF	0	1	1,286	1,327			7	183.7
	xRND 2	FAIRLEIGH DICKINSON UNIVERSITY	1	0	1,314	1,325			7	187.7
	xRND 3	BELMONT ABBEY COLLEGE	0	1	1,294	1,292			7	184.9
MCKENDREE UNIVERSITY Total			5	8	13,140	13,407	0	0	71	185.1
NEWMAN UNIVERSITY	Baker Match 01	SACRED HEART UNIVERSITY	1	0	886	866	0	0	5	177.2
	Baker Match 02	MARYVILLE UNIVERSITY	0	1	931	997	0	0	5	186.2
	Baker Match 03	NIAGARA UNIVERSITY	1	0	1,059	961	0	0	5	211.8
	Baker Match 04	MCKENDREE UNIVERSITY	1	0	1,013	909	0	0	5	202.6
	Baker Match 05	FAIRLEIGH DICKINSON UNIVERSITY	1	0	925	920	0	0	5	185.0
	Trad Match 01	ALABAMA STATE UNIVERSITY	1	0	901	873	0	0	5	180.2
	Trad Match 02	WISCONSIN-WHITEWATER, UNIV. OF	1	0	880	835	0	0	5	176.0
	Trad Match 03	PRAIRIE VIEW A&M UNIVERSITY	1	0	988	895	0	0	5	197.6
	Trad Match 04	NORTH CAROLINA A&T STATE UNIVERSITY	1	0	1,086	1,024	0	0	5	217.2
	Trad Match 05	LONG ISLAND UNIVERSITY	1	0	956	768	0	0	5	191.2
	xRND 1	JACKSON STATE UNIVERSITY	1	0	1,332	1,206			7	190.3
	xRND 2	YOUNGSTOWN STATE UNIVERSITY	0	1	1,157	1,205			6	192.8
	xRND 3	JACKSON STATE UNIVERSITY	1	0	802	704			4	200.5
NEWMAN UNIVERSITY Total			11	2	12,916	12,163	0	0	67	192.8
NIAGARA UNIVERSITY	Baker Match 01	CARTHAGE COLLEGE	1	0	995	948	0	0	5	199.0
	Baker Match 02	WESTERN ILLINOIS UNIVERSITY	1	0	1,065	842	0	0	5	213.0
	Baker Match 03	NEWMAN UNIVERSITY	0	1	961	1,059	0	0	5	192.2
	Baker Match 04	TULANE UNIVERSITY	0	1	952	971	0	0	5	190.4
	Baker Match 05	YOUNGSTOWN STATE UNIVERSITY	1	0	985	922	0	0	5	197.0
	Trad Match 01	ALABAMA AT BIRMINGHAM, UNIV. OF	1	0	1,058	1,049	0	0	5	211.6
	Trad Match 02	AURORA UNIVERSITY	1	0	1,030	831	0	0	5	206.0

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame	
NIAGARA UNIVERSITY	Trad Match 03	INDIANAPOLIS, UNIV. OF	1	0	1,082	823	0	0	5	216.4	
	Trad Match 04	SAM HOUSTON STATE UNIVERSITY	0	1	881	1,006	0	0	5	176.2	
	Trad Match 05	WRIGHT STATE UNIVERSITY	0	1	970	987	0	0	5	194.0	
	xRND 1	WICHITA STATE UNIVERSITY	0	1	1,299	1,366			7	185.6	
	xRND 2	WRIGHT STATE UNIVERSITY	0	1	963	1,063			5	192.6	
	xRND 3	SACRED HEART UNIVERSITY	0	1	1,110	1,211			6	185.0	
NIAGARA UNIVERSITY Total			6	7	13,351	13,078	0	0	68	196.3	
NORTH CAROLINA A&T STATE UNIVERSITY	Baker Match 01	TULANE UNIVERSITY	1	0	1,028	942	0	0	5	205.6	
	Baker Match 02	LEWIS UNIVERSITY	1	0	1,017	910	0	0	5	203.4	
	Baker Match 03	YOUNGSTOWN STATE UNIVERSITY	0	1	942	1,024	0	0	5	188.4	
	Baker Match 04	INDIANAPOLIS, UNIV. OF	1	0	1,018	859	0	0	5	203.6	
	Baker Match 05	SAM HOUSTON STATE UNIVERSITY	1	0	1,113	1,065	0	0	5	222.6	
	Trad Match 01	JACKSONVILLE STATE UNIVERSITY	0	1	875	1,055	0	0	5	175.0	
	Trad Match 02	WRIGHT STATE UNIVERSITY	1	0	1,074	918	0	0	5	214.8	
	Trad Match 03	CARTHAGE COLLEGE	1	0	1,060	846	0	0	5	212.0	
	Trad Match 04	NEWMAN UNIVERSITY	0	1	1,024	1,086	0	0	5	204.8	
	Trad Match 05	WESTERN ILLINOIS UNIVERSITY	1	0	1,092	949	0	0	5	218.4	
	xRND 1	LOUISIANA TECH UNIVERSITY	1	0	1,043	852			5	208.6	
	xRND 2	VANDERBILT UNIVERSITY	0	1	810	878			4	202.5	
	xRND 3	LOUISIANA TECH UNIVERSITY	0	1	984	999			5	196.8	
	NORTH CAROLINA A&T STATE UNIVERSITY Total			8	5	13,080	12,383	0	0	64	204.4
OKLAHOMA CHRISTIAN UNIVERSITY	Baker Match 01	WISCONSIN-WHITEWATER, UNIV. OF	1	0	876	848	0	0	5	175.2	
	Baker Match 02	WICHITA STATE UNIVERSITY	0	1	935	1,001	0	0	5	187.0	
	Baker Match 03	MARYLAND EASTERN SHORE, UNIV. OF	1	0	976	931	0	0	5	195.2	
	Baker Match 04	JACKSONVILLE STATE UNIVERSITY	0	1	803	1,077	0	0	5	160.6	
	Baker Match 05	QUINCY UNIVERSITY	1	0	1,035	811	0	0	5	207.0	
	Trad Match 01	WESTERN ILLINOIS UNIVERSITY	1	0	906	881	0	0	5	181.2	
	Trad Match 02	ALABAMA A&M UNIVERSITY	1	0	927	848	0	0	5	185.4	
	Trad Match 03	CARROLL UNIVERSITY	1	0	954	931	0	0	5	190.8	
	Trad Match 04	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	863	997	0	0	5	172.6	
	Trad Match 05	BELMONT ABBEY COLLEGE	0	1	881	975	0	0	5	176.2	
	xRND 1	FAIRLEIGH DICKINSON UNIVERSITY	0	1	1,255	1,362			7	179.3	
	xRND 2	ALABAMA STATE UNIVERSITY	1	0	1,074	1,037			6	179.0	
	xRND 3	FAIRLEIGH DICKINSON UNIVERSITY	0	1	1,073	1,120			6	178.8	
	OKLAHOMA CHRISTIAN UNIVERSITY Total			7	6	12,558	12,819	0	0	69	182.0
PRAIRIE VIEW A&M UNIVERSITY	Baker Match 01	YOUNGSTOWN STATE UNIVERSITY	0	1	828	934	0	0	5	165.6	
	Baker Match 02	INDIANAPOLIS, UNIV. OF	0	1	776	913	0	0	5	155.2	
	Baker Match 03	ARKANSAS STATE UNIVERSITY	0	1	753	1,074	0	0	5	150.6	
	Baker Match 04	SAM HOUSTON STATE UNIVERSITY	0	1	899	1,061	0	0	5	179.8	
	Baker Match 05	WRIGHT STATE UNIVERSITY	0	1	816	955	0	0	5	163.2	
	Trad Match 01	AURORA UNIVERSITY	0	1	841	886	0	0	5	168.2	
	Trad Match 02	CARTHAGE COLLEGE	1	0	794	749	0	0	5	158.8	
	Trad Match 03	NEWMAN UNIVERSITY	0	1	895	988	0	0	5	179.0	
	Trad Match 04	WESTERN ILLINOIS UNIVERSITY	1	0	836	819	0	0	5	167.2	
	Trad Match 05	TULANE UNIVERSITY	0	1	780	883	0	0	5	156.0	
	xRND 1	LONG ISLAND UNIVERSITY	1	0	1,016	952			6	169.3	
	xRND 2	AURORA UNIVERSITY	0	1	917	1,004			5	183.4	
	xRND 3	LONG ISLAND UNIVERSITY	1	0	1,070	954			6	178.3	
	PRAIRIE VIEW A&M UNIVERSITY Total			4	9	11,221	12,172	0	0	67	167.5

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
QUINCY UNIVERSITY	Baker Match 01	AURORA UNIVERSITY	1	0	857	763	0	0	5	171.4
	Baker Match 02	LOUISIANA TECH UNIVERSITY	0	1	818	1,053	0	0	5	163.6
	Baker Match 03	MARIAN UNIVERSITY (WI)	0	1	854	890	0	0	5	170.8
	Baker Match 04	VANDERBILT UNIVERSITY	0	1	863	1,138	0	0	5	172.6
	Baker Match 05	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	811	1,035	0	0	5	162.2
	Trad Match 01	LONG ISLAND UNIVERSITY	1	0	802	684	0	0	5	160.4
	Trad Match 02	ARKANSAS STATE UNIVERSITY	0	1	926	1,046	0	0	5	185.2
	Trad Match 03	LEWIS UNIVERSITY	0	1	857	966	0	0	5	171.4
	Trad Match 04	ALABAMA STATE UNIVERSITY	1	0	885	867	0	0	5	177.0
	Trad Match 05	JACKSON STATE UNIVERSITY	0	1	858	910	0	0	5	171.6
	xRND 1	INDIANAPOLIS, UNIV. OF	1	0	843	783			5	168.6
	xRND 2	LEWIS UNIVERSITY	0	1	1,145	1,114			6	190.8
	xRND 3	CARTHAGE COLLEGE	0	1	1,025	1,042			6	170.8
QUINCY UNIVERSITY Total			4	9	11,544	12,291	0	0	67	172.3
SACRED HEART UNIVERSITY	Baker Match 01	NEWMAN UNIVERSITY	0	1	866	886	0	0	5	173.2
	Baker Match 02	TULANE UNIVERSITY	0	1	933	973	0	0	5	186.6
	Baker Match 03	WESTERN ILLINOIS UNIVERSITY	1	0	1,031	916	0	0	5	206.2
	Baker Match 04	YOUNGSTOWN STATE UNIVERSITY	1	0	1,036	1,006	0	0	5	207.2
	Baker Match 05	JACKSON STATE UNIVERSITY	1	0	1,090	1,028	0	0	5	218.0
	Trad Match 01	WICHITA STATE UNIVERSITY	1	0	980	880	0	0	5	196.0
	Trad Match 02	INDIANAPOLIS, UNIV. OF	1	0	1,072	849	0	0	5	214.4
	Trad Match 03	SAM HOUSTON STATE UNIVERSITY	0	1	920	1,072	0	0	5	184.0
	Trad Match 04	WRIGHT STATE UNIVERSITY	0	1	1,009	1,021	0	0	5	201.8
	Trad Match 05	CARTHAGE COLLEGE	1	0	859	827	0	0	5	171.8
	xRND 1	WRIGHT STATE UNIVERSITY	0	1	985	1,075			5	197.0
	xRND 2	TULANE UNIVERSITY	1	0	1,499	1,492			7	214.1
	xRND 3	NIAGARA UNIVERSITY	1	0	1,211	1,110			6	201.8
SACRED HEART UNIVERSITY Total			8	5	13,491	13,135	0	0	68	198.4
SAM HOUSTON STATE UNIVERSITY	Baker Match 01	MCKENDREE UNIVERSITY	1	0	959	833	0	0	5	191.8
	Baker Match 02	WISCONSIN-WHITEWATER, UNIV. OF	1	0	1,147	991	0	0	5	229.4
	Baker Match 03	FAIRLEIGH DICKINSON UNIVERSITY	1	0	1,106	948	0	0	5	221.2
	Baker Match 04	PRAIRIE VIEW A&M UNIVERSITY	1	0	1,061	899	0	0	5	212.2
	Baker Match 05	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	1,065	1,113	0	0	5	213.0
	Trad Match 01	VANDERBILT UNIVERSITY	0	1	923	1,004	0	0	5	184.6
	Trad Match 02	LONG ISLAND UNIVERSITY	1	0	1,165	827	0	0	5	233.0
	Trad Match 03	SACRED HEART UNIVERSITY	1	0	1,072	920	0	0	5	214.4
	Trad Match 04	NIAGARA UNIVERSITY	1	0	1,006	881	0	0	5	201.2
	Trad Match 05	MARYVILLE UNIVERSITY	0	1	1,054	1,180	0	0	5	210.8
	xRND 1	JACKSONVILLE STATE UNIVERSITY	0	1	1,224	1,342			6	204.0
	xRND 2	ARKANSAS STATE UNIVERSITY	1	0	1,478	1,457			7	211.1
	xRND 3	JACKSONVILLE STATE UNIVERSITY	0	1	759	830			4	189.8
SAM HOUSTON STATE UNIVERSITY Total			8	5	14,019	13,225	0	0	67	209.2
TULANE UNIVERSITY	Baker Match 01	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	942	1,028	0	0	5	188.4
	Baker Match 02	SACRED HEART UNIVERSITY	1	0	973	933	0	0	5	194.6
	Baker Match 03	LONG ISLAND UNIVERSITY	1	0	1,005	872	0	0	5	201.0
	Baker Match 04	NIAGARA UNIVERSITY	1	0	971	952	0	0	5	194.2
	Baker Match 05	MARYVILLE UNIVERSITY	0	1	1,006	1,048	0	0	5	201.2
	Trad Match 01	LOUISIANA TECH UNIVERSITY	1	0	1,045	951	0	0	5	209.0
	Trad Match 02	MCKENDREE UNIVERSITY	1	0	1,007	887	0	0	5	201.4

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
TULANE UNIVERSITY	Trad Match 03	FAIRLEIGH DICKINSON UNIVERSITY	1	0	903	859	0	0	5	180.6
	Trad Match 04	WISCONSIN-WHITEWATER, UNIV. OF	0	1	918	963	0	0	5	183.6
	Trad Match 05	PRAIRIE VIEW A&M UNIVERSITY	1	0	883	780	0	0	5	176.6
	xRND 1	YOUNGSTOWN STATE UNIVERSITY	1	0	1,306	1,355			7	186.6
	xRND 2	SACRED HEART UNIVERSITY	0	1	1,492	1,499			7	213.1
	xRND 3	YOUNGSTOWN STATE UNIVERSITY	0	1	1,122	1,216			6	187.0
TULANE UNIVERSITY Total			8	5	13,573	13,343	0	0	70	193.9
VANDERBILT UNIVERSITY	Baker Match 01	MARYLAND EASTERN SHORE, UNIV. OF	1	0	1,033	928	0	0	5	206.6
	Baker Match 02	JACKSONVILLE STATE UNIVERSITY	0	1	1,054	1,140	0	0	5	210.8
	Baker Match 03	WICHITA STATE UNIVERSITY	1	0	1,057	1,006	0	0	5	211.4
	Baker Match 04	QUINCY UNIVERSITY	1	0	1,138	863	0	0	5	227.6
	Baker Match 05	ALABAMA A&M UNIVERSITY	1	0	972	879	0	0	5	194.4
	Trad Match 01	SAM HOUSTON STATE UNIVERSITY	1	0	1,004	923	0	0	5	200.8
	Trad Match 02	CARROLL UNIVERSITY	1	0	1,088	1,004	0	0	5	217.6
	Trad Match 03	ALABAMA AT BIRMINGHAM, UNIV. OF	1	0	1,059	926	0	0	5	211.8
	Trad Match 04	BELMONT ABBEY COLLEGE	0	1	1,002	1,072	0	0	5	200.4
	Trad Match 05	FAIRLEIGH DICKINSON UNIVERSITY	1	0	1,082	865	0	0	5	216.4
	xRND 1	ARKANSAS STATE UNIVERSITY	0	1	946	1,059			5	189.2
	xRND 2	NORTH CAROLINA A&T STATE UNIVERSITY	1	0	878	810			4	219.5
	xRND 3	ARKANSAS STATE UNIVERSITY	1	0	1,401	1,476			7	200.1
	VANDERBILT UNIVERSITY Total			10	3	13,714	12,951	0	0	66
WESTERN ILLINOIS UNIVERSITY	Baker Match 01	LONG ISLAND UNIVERSITY	0	1	807	831	0	0	5	161.4
	Baker Match 02	NIAGARA UNIVERSITY	0	1	842	1,065	0	0	5	168.4
	Baker Match 03	SACRED HEART UNIVERSITY	0	1	916	1,031	0	0	5	183.2
	Baker Match 04	MARYVILLE UNIVERSITY	0	1	894	946	0	0	5	178.8
	Baker Match 05	MCKENDREE UNIVERSITY	1	0	971	935	0	0	5	194.2
	Trad Match 01	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	881	906	0	0	5	176.2
	Trad Match 02	FAIRLEIGH DICKINSON UNIVERSITY	1	0	972	884	0	0	5	194.4
	Trad Match 03	WISCONSIN-WHITEWATER, UNIV. OF	0	1	893	1,025	0	0	5	178.6
	Trad Match 04	PRAIRIE VIEW A&M UNIVERSITY	0	1	819	836	0	0	5	163.8
	Trad Match 05	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	949	1,092	0	0	5	189.8
	xRND 1	ALABAMA STATE UNIVERSITY	0	1	685	797			4	171.3
	xRND 2	MARIAN UNIVERSITY (WI)	1	0	1,041	1,022			6	173.5
	xRND 3	ALABAMA STATE UNIVERSITY	0	1	1,096	1,131			6	182.7
	WESTERN ILLINOIS UNIVERSITY Total			3	10	11,766	12,501	0	0	66
WICHITA STATE UNIVERSITY	Baker Match 01	LOUISIANA TECH UNIVERSITY	0	1	936	993	0	0	5	187.2
	Baker Match 02	OKLAHOMA CHRISTIAN UNIVERSITY	1	0	1,001	935	0	0	5	200.2
	Baker Match 03	VANDERBILT UNIVERSITY	0	1	1,006	1,057	0	0	5	201.2
	Baker Match 04	ARKANSAS STATE UNIVERSITY	0	1	1,015	1,057	0	0	5	203.0
	Baker Match 05	LEWIS UNIVERSITY	1	0	991	787	0	0	5	198.2
	Trad Match 01	SACRED HEART UNIVERSITY	0	1	880	980	0	0	5	176.0
	Trad Match 02	ALABAMA STATE UNIVERSITY	1	0	958	873	0	0	5	191.6
	Trad Match 03	JACKSON STATE UNIVERSITY	1	0	1,063	971	0	0	5	212.6
	Trad Match 04	AURORA UNIVERSITY	1	0	1,087	878	0	0	5	217.4
	Trad Match 05	MARIAN UNIVERSITY (WI)	1	0	898	892	0	0	5	179.6
	xRND 1	NIAGARA UNIVERSITY	1	0	1,366	1,299			7	195.1
	xRND 2	ALABAMA AT BIRMINGHAM, UNIV. OF	1	0	936	745			4	234.0
	xRND 3	MARYVILLE UNIVERSITY	1	0	1,468	1,508			7	209.7
	WICHITA STATE UNIVERSITY Total			9	4	13,605	12,975	0	0	68

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
WISCONSIN-WHITEWATER, UNIV. OF	Baker Match 01	OKLAHOMA CHRISTIAN UNIVERSITY	0	1	848	876	0	0	5	169.6
	Baker Match 02	SAM HOUSTON STATE UNIVERSITY	0	1	991	1,147	0	0	5	198.2
	Baker Match 03	INDIANAPOLIS, UNIV. OF	1	0	958	867	0	0	5	191.6
	Baker Match 04	WRIGHT STATE UNIVERSITY	0	1	982	1,010	0	0	5	196.4
	Baker Match 05	CARTHAGE COLLEGE	1	0	923	824	0	0	5	184.6
	Trad Match 01	CARROLL UNIVERSITY	0	1	838	850	0	0	5	167.6
	Trad Match 02	NEWMAN UNIVERSITY	0	1	835	880	0	0	5	167.0
	Trad Match 03	WESTERN ILLINOIS UNIVERSITY	1	0	1,025	893	0	0	5	205.0
	Trad Match 04	TULANE UNIVERSITY	1	0	963	918	0	0	5	192.6
	Trad Match 05	YOUNGSTOWN STATE UNIVERSITY	0	1	978	998	0	0	5	195.6
	xRND 1	MCKENDREE UNIVERSITY	1	0	1,327	1,286			7	189.6
	xRND 2	BELMONT ABBEY COLLEGE	1	0	1,014	983			5	202.8
	xRND 3	MARYLAND EASTERN SHORE, UNIV. OF	1	0	1,368	1,289			7	195.4
WISCONSIN-WHITEWATER, UNIV. OF Total			7	6	13,050	12,821	0	0	69	189.1
WRIGHT STATE UNIVERSITY	Baker Match 01	MARYVILLE UNIVERSITY	1	0	979	953	0	0	5	195.8
	Baker Match 02	FAIRLEIGH DICKINSON UNIVERSITY	1	0	983	929	0	0	5	196.6
	Baker Match 03	MCKENDREE UNIVERSITY	0	1	987	993	0	0	5	197.4
	Baker Match 04	WISCONSIN-WHITEWATER, UNIV. OF	1	0	1,010	982	0	0	5	202.0
	Baker Match 05	PRAIRIE VIEW A&M UNIVERSITY	1	0	955	816	0	0	5	191.0
	Trad Match 01	ARKANSAS STATE UNIVERSITY	0	1	921	1,020	0	0	5	184.2
	Trad Match 02	NORTH CAROLINA A&T STATE UNIVERSITY	0	1	918	1,074	0	0	5	183.6
	Trad Match 03	LONG ISLAND UNIVERSITY	1	0	1,015	759	0	0	5	203.0
	Trad Match 04	SACRED HEART UNIVERSITY	1	0	1,021	1,009	0	0	5	204.2
	Trad Match 05	NIAGARA UNIVERSITY	1	0	987	970	0	0	5	197.4
	xRND 1	SACRED HEART UNIVERSITY	1	0	1,075	985			5	215.0
	xRND 2	NIAGARA UNIVERSITY	1	0	1,063	963			5	212.6
	xRND 3	ALABAMA AT BIRMINGHAM, UNIV. OF	0	1	1,274	1,265			6	212.3
WRIGHT STATE UNIVERSITY Total			9	4	13,188	12,718	0	0	66	199.8
YOUNGSTOWN STATE UNIVERSITY	Baker Match 01	PRAIRIE VIEW A&M UNIVERSITY	1	0	934	828	0	0	5	186.8
	Baker Match 02	LONG ISLAND UNIVERSITY	1	0	945	806	0	0	5	189.0
	Baker Match 03	NORTH CAROLINA A&T STATE UNIVERSITY	1	0	1,024	942	0	0	5	204.8
	Baker Match 04	SACRED HEART UNIVERSITY	0	1	1,006	1,036	0	0	5	201.2
	Baker Match 05	NIAGARA UNIVERSITY	0	1	922	985	0	0	5	184.4
	Trad Match 01	JACKSON STATE UNIVERSITY	0	1	959	966	0	0	5	191.8
	Trad Match 02	MARYVILLE UNIVERSITY	0	1	905	1,027	0	0	5	181.0
	Trad Match 03	MCKENDREE UNIVERSITY	1	0	1,025	912	0	0	5	205.0
	Trad Match 04	FAIRLEIGH DICKINSON UNIVERSITY	1	0	986	871	0	0	5	197.2
	Trad Match 05	WISCONSIN-WHITEWATER, UNIV. OF	1	0	998	978	0	0	5	199.6
	xRND 1	TULANE UNIVERSITY	0	1	1,355	1,306			7	193.6
	xRND 2	NEWMAN UNIVERSITY	1	0	1,205	1,157			6	200.8
	xRND 3	TULANE UNIVERSITY	1	0	1,216	1,122			6	202.7
YOUNGSTOWN STATE UNIVERSITY Total			8	5	13,480	12,936	0	0	69	195.4
Grand Total			221	221	431,384	431,384	0	0	2296	187.9